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General Instructions :

66/1/1

(i)
(ii)

(iii)

(iv)

v)

(vi)

(vii)

Y TTich freeTyor o1 TiCATYA ShifT |

This question-paper contains five Sections — A, B, C, D and E.

Section — A contains questions 1 to 8 carrying one mark each. Answer to these
questions may be given in one word or a sentence.

Section — B contains questions 9 to 13 carrying three marks each, answers to these
questions may be in 50 to 75 words.

Section — C contains questions 14 to 19 carrying four marks each. Answers to these
questions may be in about 120 words.

Section — D contains questions 20 to 22 carrying five marks each. Answers to these
questions may be in about 150 words.

Section — E contains questions 23 to 25 carrying six marks each. Answer to these
questions may be in about 200 words.

There is no over-all-choice in the question paper, however an internal choice has
been provided in 3 questions of one mark, 2 questions of three marks, 2 questions of
four marks, 1 question of five marks and 1 question of six marks. You have to
attempt only one of the choices in such questions.

g ‘I’
Section — A

YT

T I TR HIRT |
Define ‘Workforce Analysis’.

OR

Define ‘Selection’.

wgerTeaE gfean fafiee 1987 & wie] 3uehton & fmivr ug foaaor # deotw 7 | Jfe e
TS TUTEAT ATel UL T IcaTe oL T & 3Td: STSIR H 39T 3721 AW & | fafrdieto

! ITH S o ToTe 30 st | Tmior, fomr, foshar, g -Tame Sansti qen debiehl San3t &
T 3rerT-3rem fawm € | s Frat 1 YeTeH & 9 T 8 9T UTeh 3Tfe Wi

A g 31 o | Tt forn 2 T wariaror <hY seerdt g3 STevaeharal sl gl i & forg
foremm wery % fagT=a I ST e ahm |

Teg o IH T TagT 1 Ieer@ hifoTT & Hrot Ieardt g3 Sedl o fofe denfea
AT =& 2 | 1
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Appliances India Ltd. is engaged in manufacturing and distribution of home
appliances since 1987. It has a good name in the market as the company is producing
good quality appliances. It has separate departments for manufacturing, finance, sales,
maintenance services and technical services to achieve specialization.

Since the areas of operations of the company have increased and customers have
become more demanding, the company decided to modify the existing principle of
management to meet the changing requirements of the environment.

State the general principle of management which the company wants to modify to
meet the changing requirements.

3. foxita oT9R fopd wohR forcfa aftaafc o qea-@rs 1 gared s 8 7 1

How does Financial Market facilitate ‘Price Discovery’ of financial assets ?

4. A J9 376 S o <REA, % Fe7 3 i st § wrae v Saeal argrskat
o fore offe farvafaeme s | Afera gia fafiiee & G dehrieh! fordT § |Tger gean |
TrEfrd o Riwar of | et o A gEres faum | 366k fof s favafoenem @ 9g
SSfT=IfaT ATt ol Wl bt o1 fof foram |
¥cfl o Id o SRR I TEETHT | 1

Biru Nandan, Chairman of Lalit group of companies founded ‘Biru University’ for
undergraduate and postgraduate courses in diverse disciplines. The Information
Technology department of the ‘Lalit Power Ltd., had few vacancies related to Cyber
Security. The Human Resource Department of the Company decided to recruit fresh
engineering graduates from ‘Biru University’ for the same. Identify the type of source
of recruitment.

5. WA e deh-iehl HEUH ¥ $er fesmsf 1 ™ 90 ot % wwErg a9l o | fese
HUST o IUHH § YAY H Sl ASHT §91 | 3H 37U AT TTEehI, IYANT <hl S areft
foraur spaer, qea-fafon Hifd senfe % s # o aa 2 )

FISHT 38 TR ! TaT-T & oot S el whiet § 379 GiTa- i feem JeH &
T ITeh! SATIRdT G0 i & foTu forhfaa e =amedt 2 | 1
Varsha Jain after completing her fashion designing course from Indian Institute of
Fashion Technology planned to enter into designer clothing venture. She had to
address issues like her target customers, channel of distribution to be used, pricing
policy etc. Identify the type of plan that Varsha Jain needs to develop to provide

direction and scope to her organization in the long run.
(O]
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I wfavfa wa fafme i€ < fopeel a1 foepmefia smit 1 Seor@ HifT |
AT
o SR & <3TE R BT T AL | 7

State any two ‘Developmental Functions’ of Securities and Exchange Board of India.
OR

What is meant by ‘Allocative Function’ of Financial Markets ?

ST ISR H 3UcTeY T Y@ feesic “aRi’ 1 3T L @ off | Jefifasy W fafie
IO 1 ST 3T T AT S h fSesic Pl ITM HH w1 (v foern | S« 97 39
Elied & fIU 918 o WR W TS d1 394 37 3dTCeh] & fgaie ¢ Sl el dT el-gss
fire &1 gwar Treeet fied-Jod g = R ¥ | 37d: 98 98 M T8 o wehl foh @i |
feesie ma =t |

forgmae < foreg 3w 3mmufx w1 919 SraTsT frest gvia Iuts feafa & fhan w2 |

Beena has been using ‘Klean’, a famous detergent available in the market. On
watching numerous advertisements in the television, she decided to try a new brand of
detergent. When she went to the near-by store to purchase the same, she saw
detergents of other producers making similar claims of whiteness and stain removing

abilities. Hence she could not make up her mind as which detergent to purchase.

Name the objection of advertising being discussed in this case.

oo firey 5 Wep gees o w9 H wifaes foawor =61 31 G |
YT
Foqur gere s 3Ri B ?

Give the meaning of ‘Physical Distribution’ as an element of Marketing Mix.
OR

What is meant by ‘Marketing Management’ ?
4 (O]
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Section — B

:9. AT TSR hl Ig=H 9T 39 TSR H IYHIHI hl STTEeIehdI3l] Ud 3<137] ol 993 &
ugETd S fefiee 7 aderET sire W e s gitaend qun saie RIEd w6
A A s W, S 07 sl st gearfe afirfera 9, SR H 3aw | 39 avi
3cdTg T TSR Il qUT qATaRelt fgdwt O, WfeRT wET 9 | 9 37Ud 3aurel Bt I
gfenfiEt & R =mgd o | e 19 1 S | 32 agd AT YA, 999 Td O TR,
Fifeh & T & foh Teh g 919 & foA1 9 haet F1faTa IATGH o TIT AR 3c9a
Thd & wfehd et off 37 Scurel Y fosht & 9N A Irvaed & B Thd | T T 3HS
SRTET <1 TTOTTY fHET qerm IedTel <ht Wi Sl IE B TS | TTEeh] I SIS UHE TR a7 I
I AT & T | 38 3feh Yo YA i 1 qwarg TE ot | - % Jry-y,
FHh! TS o BT FEATEA’ SIS hl TWRICAT Th HIIBT-SclTeh & TR | SUHIRAT FHHT
TR T H T HEgd i & | 3
() & um fefres gra srufera foha S aret o ey el o6t ugeaT |

(i) STk feufa o Tepifard foraum shaiat = et o oy Tmesy |

JTM Ltd. launched ‘Buddyline’, an exercise book and comprehensive stationery brand

name comprising of ball pens, gel pens and geometry boxes after identifying the target
market and understanding the needs and wants of the consumers of that market. All
their products were of good quality and eco-friendly but expensive. They wanted to
distinguish their products from that of their competitors. They spent lot of efforts, time
and money in creating the brand name, as they knew that without a brand name, they
can only create awareness for the generic products and can never be sure of the sale of
their products. The effort paid off and the demand for the products started growing.
The customers liked the brand and became habitual to it. They did not mind paying a
higher price. Over a period of time, it became a status symbol to buy ‘Buddyline’
brand because of its quality. The consumers felt pride in using them.

(1)  Identify the marketing management philosophy followed by JTM Ltd.

(i1)) Explain the advantages of branding to the marketeers highlighted in the above

case.
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HidT T ST H TATE Folgw’ TH & JTEHHY 1 Ueh Thcl T8 & | ITeh! STFEHH
g4 &1 WIGE 8 | 98 STEHHT I TG qT5l g H L] 8 T 36 G Icaled H3ShH
faftr TR & worad auT Yendl 1 3uTTeY & | I8 gHfTaa s o forg foh wmees 37 o fog
I TR 3T TER & agr 329 FUiia fohu & 91 37! &= o wad 3¢ 98 +rl
HA 3 |
T 1 TEAH H IS 1 AT I3 oh HRUT IHh! HGH 3TST I Tal AT | 3fereh o
A o o TT 30 ATTAT 6 Heldt 3TRY 1 | 3898 Hvfl-peft forawor 4 ¢t gt off qen
IMEThHM STR § THY W el uga uret oft | Ao, I6eh! JTeEshig i 1 e g 37K
3ok HROT TTANTAT  STTR H To97 ot foT | I8 379 STSIR 91T 1 5 3791 Tfaii=i
o fore =t fear |
et < Hem % yRy § fafire st o for 38 fafte woiaw % 4,000 3TgEshm kel 6
JTY{ Teh o S1C Teh i I TG UTH G | I8 GHITad i b f7w 7o el a9 X quf
Bl AT SATCIM <1 Tl T9 T g1 35 AfAih HHETRI <t FfRE 6 | 389 TR 98 T0 W
ITTEH AT ITTSESHIN o Uehel o1 I hid H Tt g3, T T IcuTed AN W |
wifeferfrdt <t ot whta wHe aen @t B it % forg feu e et Q@ R g,
a1 3 31ga fera foh o8 T4 3 Teh HEaqul 981 shi 3T S T S W R |

AT g & 7 feu S 9Tt Je4 veT <l Ug=TT | 91 g Ush ISl < gEreiar o
3 FHEET |

Mita has a successful ice cream business at Bikaner, namely ‘Smartflavours’. Her ice
creams are utterly delicious. She makes ice creams from fresh milk and the same are
available in a wide range of flavours and packs. She sets viable business objectives
and works with the same in mind in order to ensure that the customers will come back
for purchasing.

Having the first mover advantage, her business was doing well. To earn higher profits,
she started cutting costs. This would sometimes lead to delay in delivery and the ice
cream was not reaching the market in time. Over a period of time, the demand for her
ice cream declined and because of it the competitors entered the market. She lost some
of her market share to competitors.

At the beginning of summer season, she got back to back orders for supply of 4,000
ice cream packs of different flavours for special occasions. To ensure that the task was
completed and orders delivered in time she hired additional workers. She was, thus
able to produce and deliver the ice cream packs but at a high production cost. While
completing activities and finishing the given task for achieving goals, Mita realized
that she was ignoring one of the important aspects of management.

Identify the aspects of management that has been ignored by Mita. Also explain the
same with the help of an example.
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1. FHE-wgig’ a1 FHAR WRlGR” 1 R-foxfla &1 o &9 § Ioor@ HINT | I8
FHHATIAT o STTIRT H8 HLd & ? 3

State ‘Job Enrichment’ and ‘Employee Participation’ as non-financial incentives. How
do they motivate employees ?

12. foxite s < Sevat <l wHesT | 3
"f JET
o wee o1 o 312 B 2 forhia geee o w329 @1 Ieviw hifvu |

Explain the objectives of Financial Planning.

OR
What is meant by ‘Financial Management’ ? State the primary objective of Financial
Management.

13. ‘oM Ueh shifeg T HHE & S $© =T Gl a1 TeTei 3 AT 2wl <l qweidn |
T YA o Ged § 9ui shifey foh Jeve Tk fom 2 | 3
YT
Yoy Teh Ffeet Miafafyr & fores @i g 3 € | 39 STl o6t 9WEsy |

‘Science is a systematized body of knowledge that explains certain general truths or
the operation of general laws.” In the light of this statement, describe management a

science.
OR
Management is a complex activity that has three main dimensions. Explain these
dimensions.
gug W’
Section — C

14. "&= @ fafies 3 arde @ T -GIeh diesral o fawur o foTu Ush 7T 3ushn IRy
P | 321 38 YR T |fsr & wfa IuieeT it wmefiesdrett ® I % foe T
Taegur fopa | 38w foh stfrekier Suviehr wfss@l I § Iu=mT foh ST ATt TTde
Tt o 9R | fafea € 1 3 a7 90% iear gk faskeut il @iw § § | et 3
Fh! g Afesrat I i Ity s Feiia o & fore iy fosivs & v wqg @ aordh
fopan 8 | 32 =g fofa foran o =8 Tawerd faferll gro w@re-ge afsmt s & fog
Hfvreni w1 ifdreror fezm S | foriesti = firdh were qendfient ot oft gemar feun forae mem @
e TgAId H a1 TRt YeTaR KR |

SUUTh JFEE # TehTINTd SATSETRIe TaTaul % & STRIH! i g=i-u ud guemse | 4
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Mahinder Agro Ltd. started a new venture for distribution of harmful and chemical
fertilizers free vegetables. They conducted a survey to find out consumer preferences
for such vegetables.

They found that most of the consumers were concerned about the harmful chemicals
being used in growing the vegetables. They found that 90% of the households were
searching for its alternatives. The company contacted a group of agriculture experts to
lay down the procedure for growing the vegetables by the farmers. They decided to
train the farmers in new technology to grow chemical free vegetables according to new
innovative methods. The experts also suggested soil management techniques through
which farmers would be able to create an abundant and lasting harvest.

Identify and explain the two dimensions of business environment highlighted in the
above para.

15. wm fefies gfved o= & 7€9 § U aifies Terea wEimE ITEfa St & e 3=
TeIhT ST Wias hl TS I FHITATISD TTHHT i o fofe wiass & fargersom
e wiosaamft gRT 30T 9 o T AT §4Td & | Aok OIS Bl Y= hich, el
61 quicrn st 6t STt ] Fifer 3 e 1 ATie Y H o forw Seeer B & | I9er
fomist & @y foem-famel %6 % yverd fowga GoFTE AR A ST E | e
IERIAT ] T o foTT TR St ggare ot <l STt & | <o a8 U siifges nfafafyr 8
frem gfgam weumrte aun foaemyut ffm & sawesar gt 7, 31a: I8 g&Ia: 39
T&Y g1 GO0 Sl ATt & | ST T TS hael JISHI3T1 bl Thanfd oid & | e
TR TRl sl ASHTAT § forafera 89 o1 7 a1 SR 21 @ 3T & 3% 3o 3R |
I3 1Y DU hl AN BT & | I Ja-9 Ig HIad Hiar & o Assti 1 a9 | gH
Tl &3 379 Icq— ATH o ToIT =marema € |

IUXIh H At FrRISH ot fohmdl @l STl qe feheal QI RISl o1 Seor@ hifT |

Mega Ltd. holds an Annual Management Programme every year in the month of
March in which the top managerial personnel formulate plans for the next year by
analyzing and predicting the future to meet future events effectively.

As they are responsible for providing direction to the organization, facts are
thoroughly checked using scientific calculations. Detailed plans are prepared after
discussion with professional experts. Preliminary investigations are also undertaken to
find out the viability of the plan. Since it is an intellectual activity requiring intelligent
imagination and sound judgement so it is mainly done by the top management.
Usually rest of the members just implement the plans. Middle level managers are
neither allowed to deviate from the plans nor are they permitted to act on their own.
The top management ensures that the expenses incurred in formulating the plans
justify the benefits derived from them.

State any two limitations and any two features of planning discussed above.

66/1/1 3 B
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fomer fafies 3 feumeer yew = fyardt o footelt < skl o1 fmfor %@ qon gonR &
SATATIET <l §eh! TTYfd T o fote ush fmfvft serts et <6t 8 | et 3cuted @& wfa
TETE 500 TG AT | Ya-eehi gRT I8 i form o T3 10 $ehrsai @b o1 IcdTeH fomem
HII BT | Yo HHTE o 37d H 3caTed 450 M58 o7 | 37Tel §H18 3ciTed sgeht 470 o

B T | Teh GHTE 99ETd IcTEd 460 MSE o1 | Sif9 ugdae W Ad g37 TR foweht
it 3l % HROT I | IAX-TEE B TET o7 |

(31) SHIh TTDE | T4 & Teh 1 shl UTshaT o FH© =01 hl ==t bl T 7 | 3 =on
%I AT |
(&) @ & 3 =on 1 ot Ieor@ HIfT et == ITRe I i TR HI T 8 |

Vinber Ltd. set up a manufacturing unit at Bhiwadi in Himachal Pradesh to
manufacture electric geysers and supply them to dealers all over the country. Their
production target was 500 geysers per week. It was decided by the management that

variation in production upto 10 units would be acceptable.

At the end of the first week, the production was 450 geysers. The next week,
production increased to 470 geysers. A week later, production was 460 geysers. On
investigation, it was found that fluctuation in production was due to irregular supply of

electricity.

(a) The above para discusses some of the steps in the process of one of the functions

of management. Explain these steps.

(b) Also, state the step(s) that have not been discussed in the above para.

3fosd Al i WM o foTC Wed ® <ol i U s[@en |ffferd aidt @ | 39 <ol
HHATRY |

JHYCT
S o WE o ol aT farg3] sl HHeST |
Organising involves a series of steps that need to be taken in order to achieve the
desired goal. Explain these steps.

OR

Explain any four points of importance of ‘Organising’.
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Tieh TaEr=IS Tiavfd STSTR # Teh Farmes o &9 o il a8 | 98 Teh U Fad SIS 1
Yo hLaT & Sel Sferferit b @lier o s S @ | 9 fafeeatet s fafem qen
o fraer % 31aEt v et 7 | fafres qun qa: e it 38wtk & arem |, Sl
Ttk IcaTee A 92l § T foher Sirar 2 | 91 gifvad o o foe o frerems sar
R § e ud fsuet o - ot Heh, IR SISTR 1 TRl 37 &7 & ffa <t St
2 3TN 38 T- 1 foem™ It e 3 SIgHR ersisd &9 & gfefyd fhan smar 2 |
I8 u ft =t fafafia teh, 378 IR SIaeri 9T S sl (et o 9§ firfaa @
Tq THTE SheHi i 33T forqa Tfied ol GiHfTad i ¢ |

I IS H Wioh TRl gRI HUTied fofe=1 Sl 1 9ui foRam T 2 | Swied &
Ufchal %1 3TYA A U T1oh THEIS o [ohral TR 11 o1 FUH SHIT |

Stock exchange acts as a regulator of the securities market. It creates a continuous

market where the securities are bought and sold. It gives investors the chance to
disinvest and reinvest. Through this process of disinvestment and reinvestment,
savings get channelized into their most productive investment avenues. To ensure that
the investing public gets a safe and fair deal in the market, the membership of the
stock exchange is well regulated and its dealings are well defined according to the
existing legal framework. It also ensures wider share of ownership by regulating new
issues, better trading practices and taking effective steps in educating the public about
investments.

Various functions performed by the Stock Exchange are discussed in the above para.
By quoting lines from the above para, state any four functions of stock exchange.

oo wd “fersha # 31 o fobeel =R forg i =1 wreTsy |
YT
fermur & = shrIt w1 wwemsT -
(i)  3TUTE T EUThA T forehrd, oI
(i)  THTHYERTT Td U qF LT |
Explain any four points of difference between ‘Marketing’ and ‘Selling’.
OR
Explain the following functions of marketing :

(1)  Product designing and development ; and

(i) Standardisation and Grading
10 B
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| Section — D
20, ST 3 Rl 3 e % el ai Rigatt Bt EmEST | 5
' Al
AR Ty o TR deniient o1 EHeET :
(31) YhM LI, qUT

(¥) TaveTes 315 ASIGH Jurme! |

Explain any five points of significance of Principles of Management.
OR

Explain the following techniques of Scientific Management :

(a) Fatigue Study ; and

(b) Differential Piece Wage System

21 WA S IAR-TGId T5d &l TH qT e 81 & | I8 N fersteft o IJushtun S
i, R e T 5 T T SR S T A
feufa o seda 8 | W-E w3 390 R & e @7 9ieds Sar-<ieE <kl i
220 diee B 230 diee o 9 8, LaATSSY S 1 (0 o= | 59 Teh 91 3T WRA i
AT 1 G K feom m, 364 I8 Foi forn fob wra % 3= &l | oft Siedst SarR-<grd
I JTETIHATT Bl U HH o fIT 90 diee T 260 dlee T o LTATETH I ST §
IART AT | R o feqor, afvem o o &t o fore i srfirmanat 6 fFragfea 1 78 =i
T <1 &1 8 Sieds STeRT-31er off | Fefy ot srfiranat 1 weaergsd % fmio % fore
forgert foparm Tram e <ifere b &1 @ qER &1 o Icrg | fireran off |

(31) TH-TTS I o TITSATCHe G ohl Y8 |

(§) U TTTS¢ B 8= T & o fehegl g o1l AT &l HHISTT o oo HIfT | 5
66/1/1 11 A pToO.




22.

66/1/1

Voltage fluctuations have been common and quite high in India. They harm our
electrical appliances like televisions, refrigerators and air conditioners, often leaving
them in a permanently damaged condition. N-Guard Company decided to manufacture
stabilizers for North India where the voltage fluctuation ranges from 220 V to 230 V.
Once the demand for North India was taken care of, they decided to launch stabilizers
of varying voltages from 90 V — 260 V for meeting the requirements of voltage
fluctuations in other regions of India also. Three engineers were appointed for South,
West and East regions of India, as the voltage was different in all the three regions.
Though all the engineers were appointed to manufacture stabilizers but the product
differed from region to region.

(a) Identify the organisational structure of N-Guard Company.

(b) State any two advantages and two limitations of the structure identified in the

above para.

Trem &t e Uftg TmRieEt St < T TS Toliee dfdes § g THEE Ja-eeh o §9
o B A | 3Fh HR H B -TIaw0r TR T, 9ol qiiesrtis vg i AeEn
TorRf&a ST AT BT < TIeT0T 1 lauTsen SHT AfRIferd A1 | 38 379 BT
o Faq 118101 <6 ToTq TeerHi o |19 Teaed foh 30 9 | S8 -8 1 31feres | 31fres Sfea
B T 9 % TA I Teliadt Afdds 3794 SR I BRI Uf A o SATEI9IH DISAT Bl
Treqor &3 o foru feres g 4 o fafaranfora s e oft |

fopgl ua famgatl & g1 Ieoi@ hIfE fob o8 forfam fope g wTad & foig
AR B |

Nisha Sethi was working as a Human Resource Manager in a famous consultancy
firm, KLI Global Services. Her job included preparing job descriptions, recruitment,
developing compensation and incentive plans and facilitating employee learning. They
had entered into alliances with institutes to ensure continuous learning of their
employees. With the jobs becoming more and more complex, KLI Global Services
invested large amount of money in making the employees learn the skills necessary to

complete the jobs.

State by giving any five points, how this investment is likely to benefit the

organisation ?
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g e q’

Section — E

fafir= wepR < I % Tafaress IguTa o fraior fafis wret W fl s & 10 @
forgl ©: SIR! 1 AT |

e
T AT BT WA | & AT Bl S T S | 1@ o i w1 wwifead e aret o
S: I hl THSTST |

‘Determining the relative proportion of various types of funds depends upon various

factors.” Explain any six such factors.
OR

Explain any six factors affecting the decision that determines the amount of profit

earned to be distributed and to be retained in the business.

198, Teh HETIUl SN HSH § | $H UM < fore feeeft/ugie Tee & |
femms o weiA & i S 6, ferwa o —
SAfereh @TE — Wd T I deh’, difh SAfeh Tdl & Hawd o SR H SNTEehdl hells ST Hob
AT IUTFATSTT ! RN W BIgeht [SHH TETEF T ShieTeTeh S ifeid &, Sifeieh @l
# 31 Ifea T <1 wh | fopam wger & faeivst yaerRat 3 @t § TRl % =rae
T TT Sifereh @Te < HEwd i THAET | Al ! giaa foran mn fob we fafia &9
T <Al A= T B dTfeh T eTqaTt 37erE hieAreren <hi Iufefa St fireradi b vg=m
ST ek | S | il Icarel shi uredt % SR H Sl Sci= i W T adei <
afuTE B gt Wi ufieRt et SerE § wehifira fopan AT B | 9w SuMieRTST
T YoM it o o werEdn uE s were i TeH i 2 |

I 3T § URRAT 3qYd hid g SUTRIIST & fadi o T 9 Taeq & forg
g FrE’ g fsarfea fohe ST aTet St b Seer@ T |
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‘VOICE’ is an important consumer organization. It organized workshops in the
months of December in Delhi/NCR for consumers. The theme was ‘Organic Food —
From Farm to Plate’, to spread awareness on the importance of organic farming and to
encourage consumers to switch from conventional food, that contains chemicals and
pesticides to organic food. Expert speakers from farmers’ community explained the
harmful effects of usage of pesticides in farming and the importance of organic food.
People were informed that the organization regularly tests samples to detect
adulteration like presence of heavy metals or pesticides. The results of the tests are
published in their monthly magazine ‘Consumer Voice’ to make people aware of
quality of different products. It also provides aid and legal advice to the consumers in
seeking a remedy.

State the functions performed by the Consumer Voice for the protection and

promotion of consumer interest by quoting lines from the above para.

v fifeg, Frar tewmssE & g yemEie Al ¥ | a8 dmiese gl o T
fomfoft et 2 | ST &1 SREEH g1 @ SEH T § SHE Sl Bl T A1 aghd
fora ST @ S8 3cTed, fomt, fauom wa aFe wEne | R wewmse 6 fmih s
AHE H B | HREH § 95d o5 999 8 95d | T9eTd 9emi 61 aiE el g8 off faehi
S IcTeT Yarwereh a0 T 1 off | I ° STl YeuTd & | a99-89T W
Je4hi TF HITTR < S TAdhREHAT 81 STt ot | FHEsTi ol &9 § T@d g a%0r I
3 foemm fig it ffea 6t @ awafas wri-ve & @y F/ FE@ 79 gemai
Je4hi o STTCITT ohi SHHTATIT qeh 5T T 14 a1 o1 M o1 | Fmm fag = o7 s
T fietet 38 ST <l Tme fob Jey 9T =TEd @ 7 3ok UvETd 98 shHan | e 3k
38 JeUhl % TRl & 3TaTa fokan | 35 et sl ot I8 Stwere fean o6 a5 3Th
THSIS ¥ Je-4hi 1 A HUTT | 36 YhR I8 Yool Td HEAT o o4
TATAhETHAT 1 G ThaT | IH T Have| sl Wi g feham ST 1o+ iz fafer < weh
TR % 3TeT HHATT ! FireT™ § Fohed B TR | T2 g 36k 1 ol Tftehf fireft 3fit
38 7= oG o ToTq i | 10% g o E1e Teh THT0T-93 f&arm 7w |
() Tramm &g g $© Sl &1 e fom T St 39 ug % fore fysmifea fope e
v ¥ T8 W g8 SR B @ AT | TH 31 9T BRI 6l Ieohd hite, 5ok
fasare <t srde femm fig & < < w2 |

(i) o fog = fou Tu srfinRent & M samsT |
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Pratap Singh is the Chief Executive Officer of Nissar Enterprises. It is an automobile
parts manufacturing company. The enterprise has a functional structure, in which jobs
of similar nature have been grouped together as Production, Finance, Marketing and
Human Resource. Nissar Enterprises has its manufacturing unit at Manesar. The
factory has been plagued with many problems for a long time which was in the
knowledge of the Production Manager, Varun Sharma. The workers had internal
differences. Time and again, there were misunderstandings between the management
and the workers. Keeping the problems in mind, Varun Sharma appointed, Siyaram
Singh who had 14 years of experience of working with the actual work force and

passing on instructions of the middle management to the workers.
Siyaram Singh met Varun Sharma to understand what the management wanted ?

Thereafter he met the workers and conveyed the ideas of management to them. He also
promised the workers to convey their problems to the management. In this way, he

cleared the misunderstanding between the management and the workers.

He also sorted out internal differences and was able to unite the workers within a
month of his joining. His work was acknowledged by management and he was given a
certificate of good performance along with 10% increase in salary.

(i) Siyaram Singh performed some of the functions which are required to be
performed at the position he is working at. State any five other functions

Siyaram Singh is expected to perform.

(i) Name the incentives provided to Siyaram Singh.

15 N
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(v) TUEGH5 3% Jrd F9720 & 22 7% & | a1 IR 197 150 91551 4 &1 /
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3% It 2 F¥1 H, TR 3% it 2 F991 H, i 37 qict 1 §97 F a9 ¥ 3HE
FI7 1 597 7 faoheq 39cieer & | 08 Jo71 § 3719 BT U fdHeq F & I

g8 |

General Instructions :
(i) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iit)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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SECTION A

1. ¢@ e fafiee’ & yery fgees & 1 faftm yem &1 it o @ 2 | 39
IFfH T FIA d9 FW W W 7 NEE IUET yeeus — W, faquE
Tergeh — for q fo Yerae — 31fcd @ | o S8 g §TS T3 ATl Sl SHed
&, ITh! faweiour htd &, 38 STvaEd id & foh Ik faWHT § 3I9Yh HHa Ik
B, 3¢ AAWIH B e Higd 3 q91 sfed 3w hH witd & forw 3=
AN e § |
I 3fgRaa wrt & sfdafics t 3R+ *1 Ieo@ Shifvw e fsarea
I GU T WM RPN a1 8, FH W I FI W E 2 | 1

Das is the Managing Director of ‘Gamut Ltd.’, manufacturing different
varieties of cheese. He has an efficient team working under him
consisting of Rajat — the Production manager, Vinay — the Marketing
manager and Adit — the Finance manager. They understand and
interpret the policies made by Das, ensure that their departments have
adequate manpower, assign them the necessary duties and motivate
them to achieve the desired objectives.

State one more function other than those mentioned above, that this
team may perform at the level they are working.

2. ‘Targ’ o STMUR W TR I qA1 IoeilRicd | 3Tt ¥ hIfvu | 1
STt

‘31’ o YR W ‘TERcd qT ‘ITIAT H =k T hIfVT | 1

Differentiate between ‘Authority’ and ‘Responsibility’ on the basis of

‘flow’.

OR
Distinguish between ‘Responsibility’ and ‘Accountability’ on the basis of
‘meaning’.

3 P.T.O.
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3. T’ 1 T 31 B 2
STt

‘Hited’ k! giIiNg <hifae |
What is meant by ‘Rule’ ?
OR

Define ‘Organising’.
4.  Tagem’ & foredl 1 fomiwanati w1 Seor@ I |
HAAAT
‘31ate griT Yeeg w1 319 dfu |
State any two characteristics of ‘Directing’.

OR

Give the meaning of ‘Management by Exception’.

5. U Ush aiqera Hoft ot ‘wiferan fafies’ &t rorsclt 318 d 2l T
% &Y 4 R W 2 | 98 gH IR FHTR T GA i hdl 7, S
Juera it fafim R i sl nfafafert &1 i = 2 | = o7 o=
I8 BRI o R 1 TAIIT HL @ AT, I Tsh HIETR M hl hal fh
3k HE H IR AT S GhaT § | Ak 4 HAA hl ol = g7z fh
39T hH < Tal o |

3 feorfa & gwret Tuwor <6 79T o YRR hl 98 shifu |

Kamal is working as a gang boss in the assembly unit of ‘Sokia Ltd.’; a
laptop manufacturing company. He supervises the work of ten trained
workers who perform the various activities related to the assembly of the
laptops. One day when he was supervising the work of his workers, he
told Ashok, a worker that his work could be improved. Ashok interpreted

the comments of Kamal as that his work was not good.

Identify the type of barrier to effective communication in this case.

4
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6. I8 SR foxit@ yREra & 9 wd foha o @iy 3 o=+ a1 a1 & &
A, YA TE € hl S9A1 @ Sl 3 UHGH hl WA W @E Hl

g |

TSR hT T8 TINTT qAT I&T HefHd i hl T8I ity | 1

This market helps to save time, effort and money that both buyers and
sellers of a financial asset would have to otherwise spend to try and find
each other.

Name the market and identify the function being referred to.

7. PUR Teh A 38 ITAM L ATt AT ~IqH TG o1l FeflH OHegl aTel
R GleAT I8l o | 38 UH R TETad i Il Ueh (oo <@l a7 3§
HIOH % WEH T TR—T &l hR Yehid i T8 off | Ird<id d gug faqom
TEYH A AR o HEOHT IUR GlaUTd, TWREE Ha1d 99 3 Sgd-H g9l
ot Yo T W g o8 TRaR T i 997 39S & oS & Uid W@rhake
(stie m1) forenfea s # srcafies wgman fuerd 2 |
foqum yag o 39 HR S ggEH Hive e fovg d fouvm yege $AR @
T L TET AT | 1

Kumar wanted to purchase a fuel efficient car having the latest
standards regarding minimisation of pollution. He saw an advertisement
offering such a car and visited the showroom of the company wherein the
car was displayed. In his discussion, the Marketing manager told him
that the company is providing credit facilities, maintenance services and
many other effective services which are helping in bringing repeat sales
and developing brand loyalty.

Identify the marketing function which the Marketing manager was
discussing with Kumar.

8.  3Tog Jaiowd fAfdg’ 39 90" % A, Hed HI 17, 2019 § IYE Hlh
Teh T8 <l 3dfY & U T 15,000 & fSEhee W o= &1 T&dd N &l 7 |
"Feg Sifost foftiee’ grn Swa <t 8 forshd e Ticfarfer sht we=e
HfT | 1

‘Ultra Televisions Ltd.” is offering its 90" TV sets at a discount of
¥ 15,000 for a period of one month starting from 15* March, 2019.

Identify the sales promotion activity used by ‘Ultra Televisions Ltd.’.

5 P.T.O.
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SECTION B

9.  YIY o MANH HR % HEW o Thwal A {93l i eS|
arra
&Y o e S i fhedl @i HimreTt s smems |

Explain any three points of importance of planning function of
management.

OR

Explain any three limitations of planning function of management.

10. ffafgd & mar W fiu=niies @ sHiv=ies 9ied § sf=aye shifau :

(%) 3T,
(@) feepr; qen

(M) Aqged |

AT

fefefiad fomgati % SMuR W wrforss &=qT qor fawrfe d@w=mr § s

W@ﬁl’ﬁ:

(%) "=

(@) vEgh forehm; q

(1) @r |

Distinguish between Formal and Informal organisation on the basis of
the following :

(a)  Origin;

(b)  Authority; and
(c) Leadership.
OR

Distinguish between Functional and Divisional structure on the basis of
the following points :

(a) Coordination;
(b)  Managerial Development; and

(e) Cost.

LW
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11.

12.

13.

gforeor i fafeei % €9 A Uehrse ufveror qenm ‘wivteomeff wRiRA’ R
REEIE

Explain ‘Vestibule Training’ and ‘Apprenticeship Programme’ as methods
of training.

‘gfayfd sTR # 3fea gersti qen =R fgd i S ¢ AR gfavfa qen
fafma 91 &1 T S 2 | 39 I & Jooi@ e e I8 w1 e 8
AT 30 1 & fohegl I 31T R T Seai@ HINT |

One of the functions of Securities and Exchange Board of India is
‘Promotion of fair practices and code of conduct in securities market’.

State the category to which this function belongs and state any two other
functions of this category.

‘S, dicd’ aftsshd sl o MHiAT 8 | O o 3cUEd JEUSh A & HGR
TRl oTmefiy S Wi fdie € fop aftssha skt <6 Fmior & W Uk wefH ol
ST B difeh SR ® ST s ammar fhn S @ it o= wfaanht s
FIH & U o wefiAi &1 T W w® 2 | wh forga fovewwr W g
TEHAH TR % WY Teh 5 Tl HE 3 i o1 o forn e | 3w
Y fofer form o for 38 e & fou fam Sdenrelia foxite @l @ wwza foran
W | MY S 3 wgd-E 7 Sl gon i SR 3@ Ay 6 e e W
fotar form St fersreptsti ot stferepan gfawet ¢ Toh |

(%) mefiy 99 grr fere e faefi ot =t wg=nfo |

(@) 39w (%) T ggaH MU vl & gaifad s arel gl dF Sent

HHATSU |

‘G. Motors’ is the manufacturer of sophisticated cranes. The Production
manager of the company, reported to the Chief Executive Officer, Ashish
Jain that one of the machines used in manufacturing sophisticated
cranes had to be replaced to compete in the market, as other competitors
were using automatic machines for manufacturing cranes. After a
detailed analysis, it was decided to purchase a new automatic machine
having the latest technology. It was also decided to finance this machine
through long term sources of finance. Ashish Jain compared various

machines and decided to invest in the machine which would yield the
maximum returns to its investors.

(a)  Identify the financial decision taken by Ashish Jain.

(b)  Explain any three factors affecting the decision identified in (a)
above.

7 P.T.O.
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15.

Qs A
SECTION C

TR JTaur i fohegl @R foemanati sl awemsy |
HAYAT

“Torggiertor’ &t fopmel am fomiwareti ot |awemsy |

Explain any four features of business environment.

OR
Explain any four features of ‘demonetization’.

¥ 2005 B FUMA 3 Teh HUGT HIUA! o IcdTed [IAqWT T SR (I79) TR W
Jagsh o ®9 H UG UEW foRAT | 3ok 3T=® B % SO 98 a9 2010 H
HFIT T 39-3cUTeH Jageh s AT | 35k U9 Yfdsel U @arfa off dor el §
gafl 3HHT T L ¥ | 1 A, 2019 I U HEHT o HH J64H & 98 T
TGEd G TR | HUMA AT YSEfd W 9gd G AT (i S 98 Al 5
T o7 fEh a8 I o7 | U oT% YEUsh o ®9 H PUMNA A SATvAhAl-hy
forgra =1 TmeeR I fafie arrarett W el B, 3de refieen i Aty
HH H ol fomn | sEe w8 omwa TR T =fEi o EER IR
JMMEvTRdTe W A T 2 3R Ueh Jageh 79+ HUETNET shi SETIhAreT
TS Heh 3h STIER bl IHTfd L Tehell B |

(%) SETIHAl-HH g 6 Th TTIaT Hl Jeot@ ITYH TTeg | foham T

2 | 38 faga h 3= 9wt w1 Ieag hifvT |
(@) UM g HUTA i hiA-Hl FERIHATE TR &3, Ioai@ I |

Kunal joined as a shop level manager in the Production department of a
textile company in the year 2005. Because of his good work, he became
the Deputy Production Manager of the company in the year 2010. He had
status and prestige and was well-respected by all in the company.
On 15t March, 2019, he was promoted as the General Manager of the
company. Kunal was very happy on his promotion as now he had become
what he was capable of becoming. As a good manager, Kunal decided to
motivate his subordinates, after understanding the Need Hierarchy
theory which is based on various assumptions. He realised that people’s
behaviour is based on their needs and the manager can influence the
behaviour of his employees by satisfying their needs.
(a)  One of the assumptions of Need Hierarchy theory is stated in the
above paragraph. State the other three assumptions of this theory.
(b)  State the needs of Kunal which are being satisfied through
promotion.
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16.

17.

2010 ¥ ‘®gH sfea fafes’ Hrot Uohss @ o 3cdTed H o § | 39 3@ty
H 9gd | U 4 9o H yow TR dau ‘ged sfean fafiee’ wi wlen
TET 2 @ 8§ | 9 AT ST FHAT B o fole qe1 sTeik # fged g @ fae
HEHT § GO 7K S T 100 U I SATATHA AR § T8 A | Fge
&1 ol foman | 39 o o1 R 9 & o et 3 9% ot sl it
H 1 o T | et 6 fo favm 3 s1gem @ foh 39 9% ROTaEt i
il st <l STTHTHG @ T 10,00,000 BT | HEGHT 36 FARIH AT i
QU AT e 2 |
(%) 39 3ew¥ & ToAC gt g fifir fopy S ol WOt Rt |HETsT |
(@) foxita oo o fopm YR § SWIE () T THSAT T I T oH-¢F foha
ST B 2 I8 oft auzrse ok 39 iR § g fohaw gifera g € |
‘Foods India Ltd.” is a company engaged in the production of packaged
juice since 2010. Over this period, a large number of competitors have
entered the market and are putting a tough challenge to ‘Foods India
Ltd.’. To face this challenge and to increase its market share, the
company has decided to replace the old machinery with an estimated cost
of ¥ 100 crores. To raise the finance, the company decided to issue 9%
debentures. The Finance department of the company has estimated that
the cost of issuing the 9% debentures will be ¥ 10,00,000. The company
wants to meet its floatation cost.
(a) Explain the instrument that the company may issue for this
purpose.
(b)  In which type of financial market, is the instrument explained in

(a) above traded ? Also explain how safe the instruments are in
this market.

IR GReAur A, 1986 % WY o FATER IUAET hi g e |
SDC]

UE fopedl 318 TRdl 1 Jooh@ HINT S IUNIET 1 39T &, Ale IFererd
f3rerad 1 Tenefan @ Fqee 8 |

Define a ‘Consumer’ according to the provisions of the Consumer
Protection Act, 1986.

OR

State any eight reliefs available to the consumer, if the court is satisfied
about the genuineness of the complaint.

9 P.T.O.
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18.

19.

TS I7UTE o YeI-Fufor s yarfad e aret foheel o1 SRl Sl THeST |

Explain any four factors which affect the fixation of price of a product.

‘wré I fdfids’ 31 AU WSl & fTU T 40,00,000 S IS Tehioid il
TTEdl B | 39 T ol ThiAd i o U T2 K01 A1 AT o HHfaiad

fiyFaNAdw @ 2 :

e o s o

K (%) II (%) III (%)
A 40,00,000 30,00,000 10,00,000
Eaul 0 10,00,000 30,00,000

311 foraror ffefaa #

T TN & 9%

THAT W h1 Afhd o T 100 ¥fd

R 30%

N Td L H 99 ¥ (EBIT) T 8,00,000

()

Al faredl & 9 fopm fashed & St=aild gl 90T W SAYR HT A9

33T Tehdl B ?

(@) w1 =0 | ghg o Y T AN MW | gHI Jhg B @ ?
‘Smart Stationery Ltd.” wants to raise funds of ¥ 40,00,000 for its new

project. The management is considering the following mix of debt and
equity to raise this amount :

(a)

(b)

Capital Alternative
Structure I(3) IT (%) III (%)

Equity 40,00,000 30,00,000 10,00,000
Debt 0 10,00,000 30,00,000

Other details are as follows :

Interest Rate on Debt 9%

Face Value of Equity Shares < 100 each

Tax Rate 30%

Earning Before Interest and Tax (EBIT) < 8,00,000

Under which of the three alternatives will the company be able to
take advantage of Trading on Equity ?

Does Earning Per Share always rise with increase in debt ?

4
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Eus q
SECTION D
20. ‘U= <kl forgl gt fomIwdreti sl "Hesy | 5
HAYAT
‘S’ I fergl gi= famivarsti =1 g9y | 5
Explain any five characteristics of ‘Co-ordination’.
OR

Explain any five characteristics of ‘Management’.

21. foem, o fafiee’ st w1 gea yareH Al of, S R e dare
P IAq ATFERR AIogZH YgH R W@ a1 | 9 Ul 9Rg a9 § Fa@™
THAATYED It @ 9 R 37T oW Alid 1] 9 | Tfehd g T av 4
36 U Hggw TR Tob owemm i 93 ey e @ ¥, Rl ofd wmm W
S @ R, T ot o wed ST @ 8 | TR wHeR war A8 o 91 @1 o ok
qaE el & | 35 Tspanett it wifa W feee @ Feqor s sy fopam it
Ig IE 99 91 W o1 fh FE $9 T 2 | THH UgA fh @™ HI HIE aE@
IHAM Bl ST, I8 IS HRAE! AT argdl o1 | T 3 T argen geer foaems
i T fopen s ot 1 wifd R Tt o arn fob e TeTerh

HX § ¥ S Tafeedl g1 W1 o1 3R M Fl I 59 § S @ A1 | 98

Tehgl T TN 3H YfTE & FTel Y foIT T | SEE WS # STy Ud I

T IIATE] ST 3N HHSATNET o SSHH FIgR hl HH Hid H TgrEdl el |

(%) ST 3=Se § Y9 o o SRl 9 YehIT STl T &, 39 U |

(@) UH HIE 97 = qier W oqEe 4 Yo" &1 98 HE e 6l
HEMAT o HehdT 2 | 5

Vikas was the Chief Operating Officer of ‘Yalet Ltd.’, a company
providing advanced software solutions to Indian Defence Services. They
had been carrying on business successfully for the last twelve years and
earning enough profits. But from the last one year, they realised that
though the business is getting big orders which are being fulfilled in
time, even then the revenues kept on decreasing. Vikas was not able to
find out where the problem was. He started keeping a close check on the
progress of activities as he could sense that something was wrong. He
wanted to take some action before any major damage could be done to the
business. Vikas appointed a cyber security expert who monitored the
company’s processes and found out that the computer operator was
deleting the entries from the computers and pocketing the revenues. He
was caught and handed over to the police. This created an atmosphere of
order and discipline in the organisation and helped in minimising
dishonest behaviour on the part of the employees.

11 P.T.O.
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(a) Identify the function of management highlighted in the above
paragraph.

(b)  Explain any four other ways in which this function of management
may help the organisation.

22. ‘g fafieg’ afecie, fope, e aom E YR o 31 3IcqmGl < A
2 | B T8 1Y 3T T8I B 9T & 2 | HEHT o fIuuE Jeeees gy 4,
IO T IdT T o 90 Ush Taeor foharm | Taeqor o giomdt & 91 =el o
I TUIE h STaSlg SUHIRT 39 HFTHT oh IcdTel ohl FTRITRI o Icaral § T
T R T @ Y | IUARAT oSS! TS W 3cATGH i 3okl 3T TUIal
HNU IR-GR TS I8d 9 Afehd o IR J 38k 3cd1el <hl U899 Tal &t T
WY | eh HRU K] hl Tkl H glg & & W W@ off, IRomHEEET Ay
e 9 | fIquE Jereeh, ERY 9 T 1w TR foh ‘qeureiedt fafiee’ 3earg
¥ grafd agd mewql fuR § weh ol o e T R
‘geaTStett fafteg’ sH-ar fof & fob 396 IuAT SR 0 38 IcuTel oh
g L Toh ? Afg IR Fofa @ T wme, @t “geuterett fafiee’ @ soeh
YIRS ol hid-shd & a9 e, gwemsy |

‘Pushpanjali Ltd.’, is manufacturing chocolates, biscuits, cakes and other

similar products. The company is not generating enough profits.
Saurabh, the Marketing manager of the company got a survey conducted
to find out the reasons. The findings of the survey revealed that in spite
of better quality, the customers were not able to distinguish the products
of the company from its competitors. Though the customers wanted to
buy the products of ‘Pushpanjali Ltd.” again and again because of its good
quality, but they were not able to identify its products in the market.
Because of this, the sales of the company could not pick up resulting in
inadequate profits. Saurabh, the Marketing manager now realised that
‘Pushpanjali Ltd.” had forgotten to take one of the most important
decisions related to the product.

What decision should ‘Pushpanjali Ltd.” take so that its customers are
able to identify its products in the market ? Explain the benefits that may
result to ‘Pushpanjali Ltd.” and its customers if the above decision is
taken.



G

23.

24.

Qus q
SECTION E

TR Jey ki F=feiiaa aeient sl TwEEy

(%) THI I,
(@) Tifd s1eRM,;
() wrElcHS BRATEM |

T
M oY & fiigd gl 1 |9ssy
(%) & faurm,
(@) AfUsR va I, qe
() ST |

Explain the following techniques of scientific management :

(a)  Time Study;
(b)  Motion Study; and

(c) Functional Foremanship.
OR

Explain the following principles of general management :

(a)  Division of Work;
(b)  Authority and Responsibility; and

(c) Discipline.

¥ 2000 H 3-9IRE faffide’ o o794 T ITRH fohU | 36k TIUH & 0
HFT o U hdd ¢F HUUR! dUT 3 fOUT ¥, Tk 3Idred faum dur U
e fawmT | IS $© aui § ST gRT MYfd ThT T IcqTGl a9 SEH hi

TS Q13T 3 AR UTed shl | Y= bl U <hl Jrgarst | fagama on
IR AT 38 HE LA hl TaaaAdr &t T8 off | Jowed 3 98 vgan i amed §

Tt w0 s Aol o ot st stfeer Tadadr @ S S SAEvIeRal § | SaH
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s Aifora fofr foen 6 3= erfoemifart o1 orefimeet W frmor g
LT | 3TH FTe | Teedi hl et 9 T3 3N 37 o Ak g& |, 919
& wEaqul (R i o i el 0 ¥ | 3Heh IRUTREEY 39 SFeE™ J 984 9
&=t 7 faferar med o ot | IdHE O sEeRt Jee @ oW H 8 T@T 7 aT gHeh
foestt # 91d YEC § | SHT WSATCHS el 39 [vriY e d uiafdd &
T} 3T gH §IR AN 38 IO H M B @ 7 |

(%) W&y Wl IW FEURON ! YgaTHT Feehl TERIAT | HFoft 5 5igd § &l

o fafaerar yred s it qen fogen # soehl e @i o |

(@) 394 (F) H T T3 SFAERON o HEd o Ui fohg THST |
‘E-Solutions Ltd.” started its operations in the year 2000. At the time of

its inception, the company had only ten employees with two departments,
a Production department and an Administration department. The
products supplied and the services provided by the company started
gaining popularity over the years. The management had faith in the
abilities of the employees and thus they allowed them freedom of action.
The management recognised that the decision-makers at different levels
of the organisation need to be given more autonomy. They took a policy
decision that there will be less control of superiors over subordinates.
This increased the role of the subordinates in the organisation and now
they were in a position to take numerous as well as important decisions.
As a result, its business has diversified into many areas. Presently, it has
its operations throughout the country with seven branches overseas. Its
organisational structure has now changed into divisional structure and
ten thousand people are working with the company.

(a)  Identify the concept of management which helped the company to
diversify into many areas and branches abroad.

(b)  Explain five points of importance of the concept identified in (a)
above.
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25.

‘Tetdue sfean fafies’ =1 e, e, SEshAl 9o X i 36 YR i
TG HIEhideh foEd 8 Hald 3 IRl 1 TS H AN 6T FHILSH
H o 3T H TR T B | B o YEE § Hall, Higed qdT HERA 9
Tefyq wfirg =afthea @ | 38 g Fol forn @ 6 9 3w gu gan wfias,
il AT HATHRI hl Teh HF Y Ul | HEIHT 4 379 HISATcHS GT=HT Al
freitor we St foRamsti o1 wEd weh foham 8 | 5ok qenq faftem fawmn &
wgEt s e ot e T ] | PR 3, I w favmte s R, e e s
el ARl hl T, YRR AT IMEYAS ANl kT fovewur s form 7|
Hrl-forator Rl T <61 Ifsha o ST =T 3c9e g3 39 T IFHIGAR % au ohi
fosm & “fp wel’ 1 foepfia w0 & fow 3w fopan o o | 3@ fe wfifean
T RIS IR Sorarei-er Hifean ® yamia foham mam | 5@ 3TdeAt i sTg 3
T |

Sugeh =feid WishaT 1 qU W o forg fren gro feaifea febg S amel a1
=T ! FHEATT |

‘Entertainment India Ltd.” has been incorporated with the objective of

entertaining people by organising festivals, programmes and other
similar events depicting the rich cultural heritage of the country. The
company management has renowned personalities from the field of art,
literature and culture. They decided to give a platform to young budding
musicians, poets and artists. The company decided its organisational
structure by grouping similar jobs together. Thereafter, the heads of
different departments were also appointed. Nisha, one of the heads, did
an analysis of the number, type and qualification necessary for people to
be appointed. The information generated in the process of writing the job
description and the candidate profile was used to develop ‘Situations
vacant’ advertisement. This was published in print media and flashed in
electronic media. This brought in a flood of response.

Explain the other steps which Nisha has to perform to complete the
process being discussed above.

15
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AT 3397 :

(i) SOFT-TFEGTEEE: 3, &, & gaq T/

(i) @IS A H13HFHTIA Y1 88 TF & | 5771 3T Uk Jeg 37941 b 1T X 31 /
(iii) @US F 43 37 act 979 G 13 % 3 | [9779h7 I 50 — 75 Vgl 4 &1 |

(iv) @US TG4 3% T Jo714 @19 7% & | 5757 3T 797 120 vieg) 4 &1 |

(v) TUEGH5 3% Jrd F9720 & 22 7% & | a1 IR 197 150 91551 4 &1 /

(vi) U T T 6 37 Tt Fo723 @25 T & | 57T I YT 200 5G] G § [

(vii) Y¥7-97 7 HI3 GHI-TT7-1dHcT 397E 7871 &, adlT T 3% Jict 3 Fo1 4, i
3% It 2 F¥1 H, TR 3% it 2 F991 H, i 37 qict 1 §97 F a9 ¥ 3HE
FI7 1 597 7 faoheq 39cieer & | 08 Jo71 § 3719 BT U fdHeq F & I

g8 |

General Instructions :
(i) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iit)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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Qug A
SECTION A
1. ‘Fureran 0 aRenfya i 1
YT
T T W Y& o feheal &l Sl ol 3g@ <hIfT | 1
Define ‘Efficiency’.
OR

State any two functions to be performed at supervisory level of
management.

2. U W IMUR W AU e qA SETEIG T H I T
HIRTT | 1
3tera
T ITA AT qAT AR AT H 31 % YR W AR T HINTC | ]

Differentiate between ‘Formal Organisation’ and ‘Informal Organisation’
on the basis of ‘Nature’.

OR
Differentiate between ‘Single Use Plan’ and ‘Standing Plan’ on the basis
of ‘Meaning’ .
3. TH WISH U4 HEANET hl AH-THE (UfISeT) STeavIsharedi ol Hdl dgse
HAT 8 ? IeCTE hITT, | 1

How does an organisation satisfy ‘Esteem Needs’ of its employees ? State.

4. AN ArEd g T had Icurg’ w1 fauuE g wekar 8 | Teg 38 SAfaih fohet
IR 1 fouom oft B gepar B, S warEey g & o et gaiE | gEE,
gl foheeht foauvE &1 @1 7 | 1

People think that it is the ‘Product’ only that can be marketed. But
something else can also be marketed, e.g. Visit Kerala for Health

Tourism’. Identify what is being marketed here.

3 P.T.O.
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5.  Touue T o T O o T H oA A AY GINT |
AT
‘S greh 1 1 AL 7 2
Give the meaning of ‘Price’ as an element of marketing mix.
OR
What is meant by ‘Public Relations’ ?

6. US G o T WM o &9 H o9 Tl o 918 T 50 @@ hi qal 31
95Tt qAT T 20 AT@ I ST §h W RO 7 | TS A9 AR HH WA
fAMEE 9 79 |HAT SIUWEh] I AT o 1 Ui fohal ot 3= TRl
g7 5 Aotfa g 7 AW A R ufoey @ e |
oy v s aifad e 9Tl 38 Res hl g shifvie Sees g et
S I fAftRE g A PTaE W) Afded @ E S SAfG YeH 6
T |

As a part of its capital structure, ‘Venus Ltd.” had ¥ 50 lakhs as Equity
Share Capital and a loan of ¥ 20 lakhs from Neon Bank. On earning a

good profit, ‘Venus Ltd.” decided to give dividend to the equity
shareholders but were surprised when the Neon Bank imposed
restrictions on the payment of dividend.

Identify the factor affecting dividend decision that allows Neon Bank to
impose restrictions on the payment of dividend by ‘Venus Ltd.’

7. U e W Ueh AR, I« Ush T o FadR] & T1Y SATETR—h qHeid
I qUT B T AT A IAA Th UH Weg 1 AT TR Rrept o1qae @i
AYATSHE HHET ST o1 | 399 TI9 o SIg@Rl bl I T feam qon =g
gueid ¥ Ns g2 T |
TS TUYYT H WIYNT Fehlae 1 3ot <hifY |

Mark Nar, a Latin American, while closing a business deal with a

businessman from Spain, used a word which was considered offensive in
Spanish when translated. This made the Spanish businessman upset and
he backed away.

State the semantic barrier to effective communication.

4
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10.

YT SATIh AISHT & Teh 9T o &9 § e fafies’ 3 a8 fofy fomn o a7
39 FAHM Sl o oHadTd o 1Y Thanedi (fafafyr) S weh 75 afe S |

JISHT & YR ohl gAY | 1

As a part of its comprehensive plan ‘Neerja Ltd.” decided to combine a
new line of activity with its existing footwear business.

Identify the type of plan.

Qs d
SECTION B

&y @& ey & Y fordl i foyarett =1 3g@ Sl | 3
HAAAT

TUor S gHTEqUidT § UR & fohedl o U 1 3g@ HIf | 3

State any three features of directing function of management.

OR

State any three measures to improve communication effectiveness.

TS B HANIH Th HIhl TE @ & Sl ARG o d1d TAl § HRsid
2 | T SR § it 1 e g g ot ot et SeATes @t %
Hieww ¥ 39 fosh fopam 2 | Pl @1 U S aen Soared fawm, omqfd
TG THYT AT GUR-TH T, s1vg Seee fawm don fosea fawmn 2 | 59
GTEAT § ThATces HRreidl H R 83T 8, Fifeh hHarl A9+ hries § fasms
o9 Y | 3 forfvree fteror ot fean S whAT o wiifeh A8l g©d g foarg i
Uft o hIvrAl T o7 |

TS HIth! HIUANIM oh GISTHD G hl TgaH HIT | TY & ITH 1T o0e
o =fda o & sifafics 3@ @9 & @ 3= ol W 3g@ ot Fifse | 3

5 P.T.O.
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11.

12.

13.

Roasted Coffee Corporation is a coffeehouse chain operating in seven
states of India. Through its effective organisational structure, it has
grown despite pressure from competitors in the national market. The
company has a Purchase and Production department, Supply chain
management and logistics department, Brand management department
and Sales department. This structure has facilitated operational
efficiency, as employees became specialists within their own realm of
expertise. They could be imparted specialised training as the focus was
on limited range of skills.

Identify the organizational structure of Roasted Coffee Corporation. Also
state the three advantages of this structure other than those discussed in
the above paragraph.

Th HI o Yol awiten fui @l gwifed e Al TRl i Rl hI
AT |

HYAT
o =S 6 <8t 3Tl <l GHETST |

Explain any three factors affecting capital budgeting decision of a
company.

OR
Explain the twin objectives of financial planning.

foregl oA el W “orawer’ aun Taehedishter H ofavg i |
Differentiate between ‘Delegation’ and ‘Decentralisation’ on any three
bases.

IAH TreTTSell 3o TUad] Tt T o Sl o HHidl & | ¥iel o Sl hl
AT 9 Wl @ Hilh AN JTTES &l © 7 b wifeesh ey o fau s=s 78
3 | 3O T % §o o e H g g 7 | fasw = s @ % o
A TeTgels § Uk 3ef 9@ (hfge) Hifa i omon it it sHs o
SHAT3Ti &l i T8 6 @ (Shise) ot 7 |

TR o T H TN TeuTEeS sl e dofl eTavaehareti i guifad
T AT G B I TgaM HINT | SR |fgd 3g@ Hifoe 7 3w gg=m

T SHehi oh TNUMTHEEEYT SIS Yol hl STTTTIhdT 3TMeeh BRI 31T &H |

6
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66/3/1] 7 P.T.0.

Steelone Enterprises is manufacturing high quality steel utensils. The
demand for steel utensils is rising as people are getting aware that
plastic is not good for health. This has led to increase in production of
steel utensils. To encourage sales, Steelone Enterprises declared a liberal
credit policy which allows three months credit to its wholesale buyers.

In the light of the above, identify the two factors affecting working capital
requirements of Steelone Enterprises. State with reason, whether the
factors as identified above, will result in high or low working capital
requirement.

Qs "

SECTION C

T S 7 wRa ® T fed’ o yag foees 1 YR 99T | STaH
oo g arett fopran fed’ fUset 40 auf @ Poo aa™ = & 2 |
30 fafys <l # &l wrfed 2, T &t Sie o9 & i gl i
q@ulﬂoh{dl%lq\l Ig T w1 TS g, 3d: & el &l gearad
SN Tllhd Nl Sl T m%m%w%m@éwwﬁvﬁéﬁ
o1 SRR fezm T # |

“Tran fed’ Afder sIagR & TdUSs HYTfad HMcSl 1 UTad =mgdl & a
i ! aER § @M o T 39w ueh o= afgar foemm 8 | vt
AN T HA Hd gHI Gt FHANET 9T S8 &l &l IAdH SARTd el
IR SEEAT < HIICE! o TR I ST EYIH @ | FEH! I 7 Hd T
Wi} g qen A gAY afrferd @ |

“Toran fed’ g0 3TUHTT U HHT YEY & TRl @ fagidi o eHeEsu |

Damini D’Souza took over the reins of ‘Kinsa Retail’ as its Managing
Director in India. ‘Kinsa Retail’ with its headquarter at Japan has been
in the retail business for the last 40 years. It has regional offices in many
countries that take care of the shops in that region. As it is a large
organisation, the regional officers have been given the powers to decide
and spend funds sanctioned to them by the headquarter for the welfare of
the customers of their region.

‘Kinsa Retail’ wants the highest possible standards of ethical conduct
being followed, for which a code of conduct is in place for putting values
into practice. All employees as well as Board members are required to act
in accordance with the highest standards of personal
and professional integrity when acting on behalf of the company.
Non-compliance involves a heavy penalty including termination of
employment.

Explain any two principles of general management being followed by
‘Kinsa Retail’.



S
15. R AR o Fheel TR T i GHEST | 4
HAYAT
TIfies SR § ¢ At o Jaaq (FresH) i fhedl @ fafedt o awemse | 4
Explain any four functions of ‘Stock Exchange’.
OR

Explain any four methods of floatation of new issues in the primary
market.

16. q9F §F 7 AT FAUE g S drelt T Dl Th B a1 Fara (diéad)
oA § g feomea foem | wefii &1 s=@ & folu 38R 1R =9 & @1 T
qagiar foram S Al § 50% ST o WY IS o foxfi & fou wgwa &
T | O3 ! SO § 3R o folu 38 forawor o e wiedy st == foha |
38 ITW Bl HU-LHY HT AW AT | YW 9 § IR THE I ATk
AT HAFT AT | 37514 Hefia o foaawor @ fow oo s) o 30 wfvrfera foskaepaten
i fgRe A1 | o9 fosha @& I QU S % U ImiH faskaskatett

icdTe" T JIEhR FaTiad foh |
(%) HU-THT g IFAN TR TC foquH-geH 6T ggam HIT |
(@) HU-THT g ITAN TR o1 Jareq 1 wred (fafafy) g |

(M) UE Tl QO R Sg@ I f feskeekdist 1 e % forg
HY-T-gY AT S § @1 T g | 4

Tapas Sen, a manufacturer, redesigned his existing soup making
machine into a small and portable machine. For selling the machine he
entered into an agreement with his uncle who agreed to finance the
project with a 50% share in the profits. To launch the machine they
decided to start with direct channels of distribution. They named the
venture as ‘Cup-a-Soup’. In the first year their main objective was profit
maximization. They appointed 30 trained salesmen for distribution of the
machines across the country. They offered incentives and awards to
salesmen for achieving their sales targets.

(a)  Identify the marketing philosophy used by ‘Cup-a-Soup’.
(b)  Identify the tool of promotion used by ‘Cup-a-Soup’.

(c) For hiring the salesmen, state any two qualities ‘Cup-a-Soup’
would have kept in mind.
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17. ‘SfeT o1 1 31 B 2 IUMRIST o oY SIS o fehegl 9 el ol 3g@
IV | 4

HAAT

“Yepfort’ ol @7 31 8 2 Uehlomt & fohegl ofiF Sl ol 3g@ Hifu | 4
What is meant by ‘Branding’ ? State any three advantages of branding to
customers.

OR
What is meant by ‘Packaging’ ? State any three functions of packaging.

18. A1 feafies we fova wlim guan dedis ot wmsien wroet @ f5e| 45,000
HAA 600 ¥ 31H UTERl Bl 23 M H TI¢ YgH Hd 7 | 8k G&A
FHRIHR it fid gua 3wl ot fafadismr qen fawm & fow g gument
de qrteyH fear fa8 a8 gidedar 3= <kl 9Ra <Al T Ul wEadl &1 T8 |
HI 4 U HHATT I TS U0 Hgex HTaId +H gq AR Bl
fufror o 2
TR ‘Wioee MeeH Wi 52 feH w1 vk wxfua ufiteror wrisn 2 | 9 fafie
TS atel At JU el i SAawISh SATGRING AUl dehdlchl vl H
gfSreqor ¢ o oI wEarfaa fomem Siran 8 S 32 wsfia IuwiRhT giSTeT o sl
HH o U JIR HT@T B | ThAIhl, URIR qAT YSEEh AT o (U 37 T&=a1
i e fovafoenet 9un Yoy el @ 61 A 8 | Ig TR0 SRRy AU
HUATET T Teg & AN, RIS, HE q ¥ad™ 3 IR St ¢ & J
T B T HERIT il 2§ |
(%) € HH=TET I FIRE o6 TIC HEoT T 9T fohu U Wt o STeg |l

el g hIfT |
(@) 9 (%) ® 989 T 9l o Gid o ITAM g gk foht T¢ she=nii
% gforeror < fotw seot gro 3w <6t 18 afverr fafyy 6t wmemsw |
(M) UE TRl @ qlenl w1 IgE Hig R Ueee mseE S Sl
fafiee =1 amwifaa & @ | 4
166/3/1 9 P.T.0.




G

Xeno Ltd. is a global information technology consulting company with
45,000 employees serving over 600 clients in 23 countries. Its Chief
Executive Officer, Neil Suman, guided the company through two decades
of diversification and growth to emerge as one of the leading Indian
companies in the software industry. The company has set standards in
ensuring the best training opportunities for its employees.

Its ‘Project Guidance Program’ is a 52-day structured training
programme. This is offered to all recruits of varied backgrounds to be
trained on essential behavioural and technical skills that prepares them
to work in live customer projects. These recruits are hired from
universities and management institutes for technical, professional as
well as managerial jobs. The training programme helps the new
employees in settling down quickly into the job by becoming familiar with
the people, the surroundings, the job and the business.

(a)  Identify the external sources of recruitment used by the company
to hire new employees.

(b)  Explain the method of training used by the company to train
employees selected by the source of recruitment identified in part
(a).

(c) State any two ways in which the ‘Project Guidance Programme’
can benefit Xeno Ltd.

19. Iua.ssey, fafiee’ & yog Fowes onfeey @rgen qon foxfia yags o 3@
Hrgt o ARy et sl FHaw fhy I ot &9 % SR H I= W R 9
3TTieed WrEa &1 o= o foh o7 o1 faw IS a9R & foran S =iz, =i
wfgard 89 & Sror Tow g w1 "o of fob oe o1 faw ger aein § fean
ST 3 BT | RiTeh Jrefeawd Ichg off, TEY e 4 Tomr g ol TR
HT Toh I Ichg AYITEAT T AW I3MT MY TAT =S AfThal i I
H o fofe ISft arom 6 fawr e =nfee | siqa: ffsks et w1 4ot e §
[EENICECICAREURRTRIRICIN
(%) HII I fFT THR & IUHT T KT HEAT ALY 2

(@) 3Ichg AdTEd § ISt SR gRT o1=a Ufqwhet shl |uTeHT ot Bt & 2
HRUT T Ie0@ HIT |

() 38 SR Sfofaat ga1 SR S oTvE o guiea @ 9 @ 2
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20.

Aditya Khosla, the Managing Director of ‘D.L.W. Ltd.” and Rajesh Puri,
the Finance Manager were discussing about avenues of investing the idle
funds of the company. Aditya Khosla was of the opinion that money
should be invested in the capital market whereas Rajesh Puri, being
more conservative, felt that it would be better if the investment was
made in the money market. Since the economy was buoyant, the
Managing Director convinced Rajesh that they should take advantage of
it and invest in the capital market to get good returns. Ultimately it was
decided to invest the idle funds in the capital market.

(a)  What kind of instruments should the company buy ?

(b)  Why is the capital market expected to give a better return in a
buoyant economy ? State the reason.

(c) Why and how safe are the securities in this market as compared to
the money market ?
Qug g

SECTION D

gAd T HUSfae IR A R @TRdl off | 3T AH-ated Iuwiey fafia
Gugfoa TRel i AfF hl AT qoAi hl JoT I AR T FlgHAUl ae
IO FHOR forn ST Heh | 36k U 98 UTH W Ush S9N H HUS(IE e
Glied T8 | T Gaw A6 o A1d 36 Fal Al 9% <@l | gHHGR 3¢
fafia 2kt fo@me @iferd a7 3TH-ated wife fopT T qew § 31fYres W = @1
o7 | MG ¥ STq=ld i % YA 98 i hl HH U H 9% 55 | Th
STRERT ITHET Tl TE I IcUIG oh TTT YA ohi T8 TR o agcd H hal HHI
I O T TAT TS Dl W A T | Uehal WioH W W Toh oM gieieht fiet,
el Se TEuHigES TeT | 3Eh TwE 36 W T & UH-TE wh
ITER fohaT T o9 UfER o o oat qg ¥ e fohu U ool gvefoa
ST |

(%) = 61 @i % wfafew g g e e e 4 st &

3@ HIfT |
(@) 3y feufa @ = forgl g1 Afereprl =l THETST |

11 P.T.O.
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Suman wanted to purchase a sandwich toaster. She checked about the
various sandwich toasters available online and compared the prices so
that an intelligent and wise choice could be made. Then she went to a
nearby market to buy the sandwich toaster. Being an informed consumer,
she looked for the correct standardisation mark. The shopkeeper showed
her different toasters but was quoting a higher price than the price she
had checked online. After negotiating with the shopkeeper, she was able
to bring the price down. As a responsible consumer, she asked for a cash
memo, against the amount paid for the product and took the toaster
home. On opening the package, she found an instruction booklet, which
she read carefully. Then she followed all instructions step-by-step and

made nicely toasted paneer sandwiches for her family.

(a) State any two responsibilities, which have been discharged by

Suman, besides asking for a cash memo.

(b)  Explain the two rights being discussed in the above case.

21. YEY % HEE W YR SO AT [heal qid forgatl ol qHesy |
HAAAT
‘T’ <6l fopgl ar foRiwneT Sl /sy |
Explain any five points which highlight the importance of management.
OR

Explain any five features of ‘Co-ordination’.
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22.

et fava i ahaan HHfE § 8 T, hEd Tl % &I HIREGH
ARl B | IThH! THAdT hl HIAT bl TAl-WIfd eEdres T fean mm o1 |
g AU AMING qAT AT YRl HI =T HAT g A1 319 D Hl fod
3Gl TEIAT o GoHTHe a1 JATd €9 § & Tohd @ | 98 T % TG&Al
T T TG T hl AAT THEATRAT i T AT hl STFAT <1 3 |

98 aft TEAEY HAT g I Tldehd IRIEATT i Ik i hl STTawIhdl Bidh
8 | ST d YO ®9 H AEIF 7 98 AUHR B TN A& Bl | I A
AN G AT B <l 8 ATk o 399 1@ of Hoh | 98 3eh! 0 <l & ao
35 TCU TTT 1T Sl QU L 6 [T ETTH =1 TG Hl 3 |

(%) <SHA GRI STHTS 715 (e A hl Tg=H HIT |

(@) o 1 derar € AHR & M W UG 31 3 Aqed ATl i
HHATRT |

Handsen is the CEO of ‘Newcastle Enterprises’, one of the world’s most
successful companies. His success stories have been well documented. He
chooses highly motivated and capable managers who can perform their
tasks creatively and adequately without his help. He allows the group

members to work on their own tasks and resolve issues themselves.

He intervenes, but only when needed to correct an unfavorable situation.
He does not use power unless it is absolutely essential. He even allows
mistakes to happen for his people to learn from them. He supports them
and supplies them the required information to complete the assigned
task.

(a) Identify the leadership style adopted by Handsen.

(b)  With the help of diagram, explain the other two leadership styles

based on the use of authority.

13 P.T.O.
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Qus q
SECTION E

T Y H RAR SHEET % 90% | T g o HEdIehial a&d % |1 §RY
S 9 RIRE AW U Uk Sl Haq™ Aides H Tmud feRam | 3EH 39
IIHE hT TIF 3T GO o A1 fohar foh 37Tl 2 — 3 991 § 21 Hanedt shl /i
IR N ¢ AT | TH HEaThiel AT Dl G A b forw 39 AT a1 TRt
A SATehIH STGETT o1 JTEUEY hiAT AT 1G] fohEl & Y F&INT AT o
AT HIN YT o HRUT AThTHRAT o 1Y T&ad €Y G ehedl =T AT |

Ig B! TE ° AMd g¢ Tk o1 1 3l AfeRi o uREdd o #R0 AN
¢ Tohd &, 394 fafv Swrafaai < TearEi 1 qeTcHesh Yoo S 3797 311,
T GIAT, AT YA, 3 o IR T |

STH TS H TEY o Teh ¥ o HS aWI hl =4l hl 5 & | ITYH <0G
Y Ufthal 3gYd HId g §H =N ! HIoBhATG &9 H THLATITY |

Saurabh Jain set up a telecom business in Nasik, named as ‘Ketone’, with
an ambitious target of reaching out to 90% of the Indian population
within one year. He chose this business on the belief that the demand for
data services will increase 4 times within the next 2 — 3 years. To fulfil
such an ambitious target, he had to either acquire an existing telecom

business or collaborate or go independent aggressively in the light of
tough competition.

He assessed the proposals of different companies vis-a-vis earnings per
share, tax liabilities, dividends paid, etc. and their future projections,
knowing fully well that the projections may change if the country’s
economic policies get modified.

The above paragraph discusses some of the steps of one of the functions
of management. By quoting the lines from the above paragraph, explain
these steps in chronological order.

T =1 afonfya ST | ey W FEeE qen Fe Rt o 95y g9y &
HHHATST |

HAAAT
o1 wfshern < oy =won st a9emsT |
Define ‘Controlling’. Explain the relationship between planning and
controlling functions of management.

OR

Explain the various steps in the process of controlling.

14



Gz

25.

IR geashell foUEa §deh Ofd-famel qen woquedi & &Ru Sifad g |
TS, T[S, 3TEH, TG o SeARIeddl gRI SHIT T §EAhall 3¢A1E A had]
<9 | 39 fopu STd € *Afug .. R, S, .., Hi o fava % et
oo # oft ffa fpu Srd € | 39 3curel o i Sl O | WRA Wl YT
GqeH qT ST Tavah focel qg1 1 oW fierar g | Joam w:=f =mgd & &6
EEAhell I bl dohdlehl o HTY JIghl SHhT kR fohdT JTT | SHT heg
farg fomioft wishen ot wfafda e, feshreum & gifeaa e o TayEdH
I IHMT BT @MY |

39T AgeHE ° Uil Wl IgYd hd gY SATGEIIh TARU o foheal =R
ST h! FHTSY |

India’s craft heritage is surviving because of its customs and traditions.
Craft products made by craftsmen of Rajasthan, Gujarat, Assam, etc. are
not only used in the country but are also exported to USA, Germany, UK,
France and other countries of the world. The volume of exports of these
products gives India an advantage in balance of payments and the much
needed foreign exchange. The Prime Minister desires that the handicraft
industry should be expanded by linking it with technology. Focus should
be on changing the manufacturing process, ensuring durability and
adopting innovations.

Quoting the lines from the above paragraph, explain any four dimensions
of the business environment.
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Candidates must write the Code on the
title page of the answer-book.
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o FHUA G F A foh 50 TA-97 H Higd Y8 15 2 |
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forg |
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e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
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AT 3397 :

(i) SOFT-TFEGTEEE: 3, &, & gaq T/

(i) @IS A H13HFHTIA Y1 88 TF & | 5771 3T Uk Jeg 37941 b 1T X 31 /
(iii) @US F 43 37 act 979 G 13 % 3 | [9779h7 I 50 — 75 Vgl 4 &1 |

(iv) TS TH4 3% T F714 T19 7% & | fo79h7 I 120 ¥1s51 & 81 |

(v) TUEGH5 3% Jrd F9720 & 22 7% & | a7 IR 150 ¥1sg] 4 &1 /

(vi) GUE T T 6 37 qTct F9723 @25 % & | [T 3T 200 1551 ° F1 [

(vii) ¥¥7-97 7 HI¥ GHI-=7- 1959 39678 781 &, ToI7 Th 37 qIct 8 Fo41 8, i
37 FIT 2 FUI H, IR 3% 917 2 ¥ H, W= 3% I 1 F F a9 9 37
gret 1 3% 7 laeq 39cise7 & | B o1 7 37191 dacT T &7 fdbeq F7 &7
FHGAE |

General Instructions :
(1) This question—paper contains five Section : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iii)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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Lus HA
SECTION A

1.  ¥e-9 % fUgra Ya-gehi ol 379 ol td SR § SR U 9T o e
YA T % AR SHd @ dTieh qerr ug 3R gfscehior § wrafaa afadi i
G Topan 511 k|
TR TeRIRIG Ye-4l o gl o Haw o o5 I T | 1
Principles of management equip the managers to foresee the cause and
effect relationships of their decisions and actions so that the wastages
associated with a trial and error approach can be overcome.
Identify the point of significance of principles of management highlighted

here.
2.  ifqat qen ‘Tranfafeat forg yehR ora.arafa g 2 1
HAAAT
FrRISA-ufshean # “foehraefiic e’ w1 & 31 7 ? 1
How are ‘Policies’ and ‘Procedures’ interlinked ?
OR

What is meant by ‘Developing Premises’ in the process of planning ?

3. B H hagl Al g fob T ek waq nfafafy g 2 1
HAAAT
o wiiorsoresfl SRl 91 gl & ? 1
Why is it said that Controlling is a continuous activity ?
OR

Why is Controlling called a forward looking function ?

4,  IUMTHIST o T&dl o TV U Yadd o U TR-EThR] TTeAT g fAsrfea fepy
I a1 Torel T w1 w1 3g@ i | 1

State any one function performed by non-governmental organisations for
protection and promotion of interest of consumers.

3 P.T.O.
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5.  ‘Uopfomr w1 o AY 7 ?
Frorat
T 31D foshashdl o fonell T U1 i 3g@ HIfST |

What is the meant by ‘Packaging’ ?
OR

State any one quality of a good salesman.

6. et fafiRg, 87 ad QU e axqedt &t T Afhg w7 | A7 =St
TurE ATell Solagieh aEq3Tl i 3fd Yol W Tqd hid o 7T JH St 2 |
QR WA H 3Heh! IETC & | SEeh Th ST FURT SATUR 2 | R =red & foh
Ioh s W ufq o o8 T &1 PaE R ST | S o ey I8
THErar & fob Ameii o6l g9 Td Tqse W& Hew@yul g | Hifd o IR, ued
yfdenfa Iuh ot gA:fafefaa e it smen st ufa o el w61 e vm
AT % F9 H S Bt B |
I feufa # v et MU ey faole @ gwifad s 9tel Swes Wl
YT |

Koby Ltd. is an 87-year-old reputed consumer goods company. It is
known for offering good quality electronic products at reasonable prices.
It has branches all over India. It has a large shareholder base. The
shareholders desire that some dividend is paid every year on their
investments. Company’s management understands that it is important to
keep the shareholders happy and satisfied. As a matter of policy, they
declare a certain amount of dividend every year out of profits rather than
reinvesting the whole as retained earnings.

Identify the factor affecting dividend decision being highlighted in the
above situation.

7. HiEHT SH, higd fAE o Wl a1 faum d Jitss Je-ue 2 | 98 qodiehd
Teh 9T o &9 H Hafig &9 9 797 refiaeen i fAsqred foe dom st 8 |
3k g feaTfea fopu ST el forrmror wfsken 3 =or 1 wg=iT |

Mahima dJain is the Senior Manager in the Advisory Services
Department of Kodes Ltd. She regularly prepares performance reports of
her subordinates as a part of the appraisal.

Identify the step of the controlling process performed by her.
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8.  Ud 99 Y ¢SH I Y&I HRIBR AR o1 | 98 TR0 W B a0l A4
=g o R T fafaq o | 359 3q faxite gerers, mifgd adt i Sa1 T a8 39
= & IR H Tashd Ys-ueh 9 3IGh 9 o =R A9 | I-3T9eRTs < 91 Hifgd
g1 fasha Jerueh o IGehl A o 1Y 3% hH b SR T e &1 AT | oAb,
I ¥ -G o AT Hifgd IA] hdld H Toshd Ja=eeh 9 Ikl A9 §
e |39 ol 3 30 =2 & SR ==l Y MW FAdd: 3H AT Bl HA HH B

EICRECIN
TS o 39 R i g e foxfla yerges Aifga awi, foasha weros @
3uehl E9 i 39 gId i Afw §9 ¢4 T Heg A | 1

Ravi Jain was the Chief Executive Officer of Nath Traders. He was
worried about the heavy expenditure on advertising. He asked his
Finance Manager, Mohit Verma to know the views of the Sales Manager
and his team regarding this expenditure. Mohit Verma was thinking of
calling a meeting of the Sales Manager and his team after tea-break. But
by chance at the time of tea-break, Mohit Verma met with the Sales
Manager and his team in the canteen. They all discussed about this
expenditure and finalised to give suggestion to reduce this expenditure.
Identify the type of organisation which helped the Finance Manager
Mohit Verma, the Sales Manager and his team in finalising the
suggestion.

Qus d
SECTION B

9. T o IS R % e W YRR SIOH AT Toheal i (oGl i THesy | 3
rera

Teh 3R shl TEEdl & gUeRY fob ‘3fuare g Y fohd ger e
gfshaT T TEMRET LT 7 | 3

Explain any three points that highlight the importance of controlling
function of management.

OR

Explain with the help of an example how ‘Management by Exception’
helps in the controlling process.

5 P.T.O.
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10.

hiadl T8 @S % aodl e A & Toh W&l hl gy ewrer off | W&
b YR T R K T@T AT a1 w1 bl AT - qon worht €9 & 9g @
oft | ShfcdT 98 T R 1 I W § e Tai off | 1 I gl AT & B
Y GR H1E Tl GHTAAT 39 TAU STATagTeh B TR AT | 91 B I9hT 32
T LA T 30 &AW hl ATYF IMETE @i o |
39+ Ffga a1 H1 Tt Tohad, @S o Ush T Ya-geh % &9 H HI®
fopan qem 38 39A U hI HiWieT & i AU SAefiAEl i IS, o qe
FHRfATE HE H AER ff feEn | WA % gaw g9ed & fau sud 39
AFTFIHATAT & ATET HHATRAT ! FgRE va gfireror &1 stferer off feam |
Higar =5, Rad a7 o HR 9 A ot 3 A q°n wAQ § ot 39 Wl
1 ITETE Wi Tht |
(%) hicar =5 T AYTE TE ARV i UgATHT e 30 Wl 6 %
I @ie § 1ee i |
(@) 3IHE (F) H YgAHl T§ JFEEN %k T o q fawg3ll Hl G&d H
AR |

Kavita Ghai was the Managing Director of a restaurant in Lucknow

called ‘Healthy Kitchen’. The restaurant was doing well and the volume
of work started increasing slowly and steadily. Kavita Ghai was not able
to manage all the work on her own. The increasing magnitude of work
made it impractical for her to handle it all by herself. Moreover her
objective is to open more branches of this restaurant at different places.

She appointed Nikhil Gupta, as a General Manager of ‘Healthy Kitchen’,
Lucknow and gave him the right to command his subordinates and to
take action within the scope of his position. For smooth running of the
restaurant she also gave him authority to hire and train the staff as per

the requirements.

Kavita Ghai was satisfied with the work of Nikhil Gupta and was able to
open other branches of the restaurant in Agra and Kanpur also.

(a) Identify the concept followed by Kavita Ghai which helped her to
open the new branches of the restaurant.

(b)  Also, explain briefly the two points of importance of the concept
identified in (a) above.



O}101]

S

11. Tl d fageni il wgmar @ wwgmsy o fopm wohr Sfa foxfta fiiem
ST Skl BT hl ITASHT o Hra-g U IJIHTeddT da1 T0g 8 graf-ed

HISATSAT 1 GTHAT HH o I AT HISH o i T bl T ST & | 3
sraT

RO YT GHAT § 3! And qun f[HAfgd Sifgw & mar w fimar 8 7 2

HHHATST | 3

Explain with the help of any three points how proper Financial Planning
enables the companies to tackle the uncertainty in respect of availability

and timings of funds and helps in smooth functioning of the organisation.

OR

How do debt and equity differ in their costs and risks involved ? Explain.

12. forT YR ‘s oy 1 T gdedrdl s 8 ? 9T | 3

How is ‘planning a pervasive function of management’ ? Explain.

13. YR TUAT STAR it o G 8 ol @ § | F9ad- deb-iehl o foehrg @ fore
TRT ST FWIEFTE 3 | $Heh TNUTHEIEY 95 § T IWHA 370 TSR 373
G T T HL @ 8 A1 WA 3TY 39 T o 1Y M T - T JI8 L @ 7
o g refegazen o uftadd 3 @ 2 | 39 doblehl davadd 4 DI SagEE
=i ot Afvaes T W afenfiar w0 & TgEa 6 7 |
3T B YR STol T W i Tl I UgETT UH HUSTEY S W e
HrEfie gt STavTehdrel i IHIfd i & | 3

Indian equity markets are going through a phase of boom. There is a

huge growth potential for innovative technologies. This has resulted in
lots of new ventures vying for a market share and old enterprises trying
to keep up with the pace with which changes are taking place in the
economy. This technological innovation has helped even smaller
businesses to compete on a global scale.

Identify and explain the three factors highlighted above which affect the

working capital requirements of such enterprises.

7 P.T.O.
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Qs A
SECTION C

A H 9¢d Ugid o ool adT A o hi 91 JH@AT & el |, ..
Aied fafiee 3 9 1 BId SRl ARl Tl U5l | I8 Teh IS hl
o TR ST T hdd 3eh TR € UM § 9gd 353 o1 9tq {YU Ao
gTa | ot 43 o7 | I% FgAd Jeal DI HR h AR HI AAT 9 T | Al
W TThR Taesht s sl Tedtfad ot W oft, R 3cated | ot 519 9™ areft
TEUSE HFAAT 4 AR SR H Jaw foham |

.. Oicd 9 39 [T Heash ql TUEdl i 3R agrn fmE ufenfiEn o
YA W H A TS | T U arehd o e fafir sue-fmioft wifafefe
g foran | sue afomeeEd, @t ygw offer fmimeti % wfrrh 8 g ot
.Y, Hied & SR 379 | il T8 378 |

(%) I feafa & yemifma smifdes gami 1 gg=m Hifvw |

(@) iRl 1 IgYd A gY, ITAH EATd H THIRIG SATETEH @0 6
HEw o foh=al ol fog3tl ! HHIATST |

In an environment of rising petroleum prices and a large middle class
population in India, KV Motors Ltd. recognized the need for small cars in
India. It created a product far superior than their competitors not only in
terms of quality but also in terms of overall driving experience. It soon
became the leader in the small car market. As the Indian government
was encouraging foreign investment, MNCs having a big name in car
manufacturing entered the Indian market.

KV Motors further expanded its service network and quality creating an
entry barrier for the competitors. It depicted its strengths through
various brand-building activities. As a result, the market share of
KV Motors is refusing to go down in spite of all major automakers as its

competitors.
(a)  Identify the economic reforms highlighted in the above case.

(b)  Quoting the lines, explain any two points of importance of

Business Environment being highlighted in the above case.

8
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16.

HET ISR QT Y51 a9 | 371 o 3TTYR W 3@ T8 HIT 4
(%) wurfaa gfawea (@) g
(1) A CIREE]

AHUAT
e IR 997 fedias IR 3 51 & YR R 3=t Wy HIfT 4
(%) ot wrfierd (@) vou fgim
(m)  orafeafa (7)o Fmtor

Differentiate between Money Market and Capital Market on the
following basis :
(a)  Expected return (b)  Safety
(c) Liquidity (d)  Instruments
OR
Differentiate between Primary Market and Secondary Market on the
following basis :
(a) Company involvement (b)  Price determinnation
(¢)  Location (d)  Capital formation

gfea 7o 3 fofie yebr & fope S 3fie fogpe, @ foepe, wht foepe qen
ARGh 115 o Tokgpe oM o fu Iedt fofeshem’ am <l et 1 s
& | g8 TEdT A1 T UTesh 3IcqE hl HH HAET 1 hT HUl, Ad: 98 TH &
Pl AZeaie H o T T amgar o1 | 364 e o A Ui i W
foua 57 Wwe AR WRi % HITIH ¥ 3G [OIuE hl AN ST F@id gE
foregpe fwian faawor & o= Hieemi &1 3T = R o |
(%) “Taawor aremi’ w1 219 €S |
(@) 3 HEH 6 AW Y 8 fqawo seam ==m gwifod gam a0 3g@
Hife fop 3w feafd o fopa YR g8+ faawor areem & == @t gufea
feparm | 4
Mudit Gupta set up ‘Healthy Biscuits’, a company manufacturing various
kinds of biscuits like oat biscuits, soya biscuits, ragi biscuits and
wholewheat biscuits. He knew that a customer would only pick up a
small quantity of the product, so he did not want to invest in starting his
own retail outlets. He planned to market the product at the ‘In and Out’

stores at various petrol pumps in the city though the other biscuit
manufacturers were using other channels of distribution.

(a)  Give the meaning of ‘Channels of Distribution’.

(b) Name the factors that affected the determination of choice of
channels and state how they will affect the choice of channel of
distribution in the above case.

9 P.T.O.
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18.

ST i gfed W IUWIHT TEU < Hgwdl o foheal o) foirg3ti sl qHeATsy |
JrqE

JUNIRRT TRETUT (I, 1986 o IT=qid SUMRRIST o [HfcRad AR

U I -

(%) FAAE BT ATHR

(@) FEa &1 AfTHR

Explain any four points of importance of consumer protection from the
business point of view.

OR
Describe the following rights of a consumer as per Consumer Protection
Act, 1986 :
(a)  Right to be Heard
(b)  Right to Safety

e dfectsh Thal H TG h TS o UG o ¢ ffE off | 9 & W,
G AT Iceheedl o TIT Tl SO ATel 31eamdsh sl @iwt 6 o | |+t amroft
e TR § gEeh fore fommam fem mn | i ufafsn srcafuss of,
Thd A At IATeE BTHl I HeATRA TohdT TAT I STAGHI o ITEGH I T B
T fSeh are straversh Frrard & off | 35eh uvend, STageht # forme wreret
I AT o ToTT Toh T&T 1 SRS k3l TR | Gedeeid &Rl o TR qel
Tfora < foRivsi & Th Wa & WY MU= TET FTaied gRI $HeRT TR0
fepam T |

(%) oeequ TR H UgEH qUT T A hI AGKAT H FEA dfecreh Tohe

g fearfea =won st =amen Sl |
(@) TRd gRI AING i T8 gdE o1 91 I qen saeh 19 off G |

Vandana Public School had a vacancy of a Maths teacher. They were
looking for a smart and creative teacher having a drive for excellence. An
advertisement was given in all leading dailies. Since the response was
huge, the school examined all the application forms and rejected the

candidates who did not have the necessary qualifications. Thereafter, a

test was conducted to measure the existing skills of the candidates. After

that it was followed by a formal in-depth conversation with the Principal
of the school and a panel of Maths experts.

(a) Explain the steps that have been performed by Vandana Public
School in the process of identifying and choosing the best
candidate.

(b) Give the name and also the meaning of the test which was

conducted by the school.

10
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20.

o som focfar ofwmafel % o99 qon fafg &1 & s9R 1 =g
SEdehdisni gl Faeehl ol e § W™l Hdl & a1 ISl ol 37 AcAIh
Icareeh fHar sraeti i 3R e tar 8 | 98 IR SR % Wi foeiy
gfErafal o T T a1 W fasea i oft giaen ygm +iar 3 | IR 9K 7
had A FiafeEl o ha ad fosed it gfawr YeE AT g fUg Sar i
3oh A W oy IR # o1 ufawa e fiel ehd 2 59 faw & o
forféra shtar 2 |
(%) 39w foufd § foxi SR g Fsaiiea fohe S atel @ /1 o1 3g@
HifT |
(@) 3w foufa o gflaa w6 sfdafics 39K IR & Q31 %™l &l
BEEIE
Financial market is a market for creation and exchange of financial
assets. It helps to link the savers with the investors and directs available
funds into their most productive investment opportunity. It also
facilitates easy purchase and sale of financial assets through the stock
exchange. The stock exchange not only facilitates buying and selling of
existing securities but also educates public about how their investments
in the financial market can yield good returns.

(a)  State two functions performed by financial market in the above
case.

(b)  Explain two more functions of the stock exchange, other than those
stated in the above case.

Que g
SECTION D

AU S99 8 & A& d°1 S AU Gl Wl SR § 71 E@led, 39 s
T 4Id, gEId q91 38 e § 9ead ¢@ | 9 | 3/ Ig AThe THHA A *
T foh Fa-sATe o Y Wi 7 A9 TE U waequr foRan qen egwa foRnm R
FrRFR Algenal I Fedl g T o HRU, Ig GHA H A g TR

TUTE AT TS T IcdTe Tohal ST | 378 SIFYR T § gl 37T hadl ohl
TYTOAT I AT Y IcAE T A FoH @M | TR F Yo i oh ¢

oI H W@ 1 Foi fohaT | IR | 3794 3c91E T JaTg 3ieh W@ o Qe

A

fTT 38 T ITAcATs frehrad Ided <Al Tomon oft <l |
39tk FgeRe O Uikl 1 3gYd I §Y, G I & Fho FauvH B A
o7 S gRT Tkt T oo & Rt wiwr st <1 Seai@ IfT |

11 P.T.O.
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22.

Since childhood Niru and Janak had been watching their grandmother
procuring wheat from the market, washing it well, drying it and getting
it converted into atta. They conducted a survey to collect data to identify
whether there is demand for readymade atta and realised that with the
growing number of working women, it is the need of the hour to
manufacture high quality atta. They named their product ‘Srijan’ and set
up ‘Srijan Atta Factory’ at Jaunpur Village. To penetrate in the market,
they decided to keep the price low. For maintaining smooth flow of their
product into the market and avoiding delays in delivery, it was decided to
store wheat at SKM Services which had scientific processes and logistics
facilitating quick delivery. They also set up an online complaint portal to
take care of consumer grievances.

By quoting the lines from the above paragraph, state five marketing
functions undertaken by Niru and Janak for successful marketing of
‘Srijan’ atta.

- <l Toheal die feRIyarstl sl |9esy |
A
TS o g o (ohral UId (oGl ol THATST |

Explain any five characteristics of co-ordination.
OR
Explain any five points of importance of management.

S’ ARG H 56 Ao ATCl Th AT WR @ 7 | I8 FaHtS 3G
=" oI T o= 8 | OHa GaTee {aum el o 9o, Tinegen, ST
TAT 375 USRI W@ Sl CEHTA HLAT 3 | TH THI, 8k I 170 YOTeRITcTeh ao
30 IEHITeTh FHAR B |

3= Wl yag & fou wu=nien 6 gt 0 wsierarstt o qem 8 6
St 8 1 A U Hlhdl AR I RS Hl gEll HAAWA § 3o
TEATE o U & | Tes TR W R foRT S arer st it el ad-et
oM aral (fom ffsa We) & wrem @ & St 8 | RS W FauH
HUETET AT Ik AT qo1 FElERT Sl TATRRI o AW 3 o [T Sieanad
HA g | A AT AT B8R BT I Y4 HUETNT o €4 § 36 & *
T o vlafsea fieor geomi & f 9 2 |

Sl HH o T S AfINTE wEATE Al a9 @ o are fawe |
FHRHH g H TGl HAT 3 |

HEATET sl Wl A o Tt =S g 3w fobe e fafem orafies e sma

FIdi =hl THHATST |

12
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24.
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‘Newrange’ is a chain of departmental stores in India with 56 outlets. It
sells the best products at the lowest price. The Human Resource
department takes care to select, train, motivate and retain the
employees. Currently, it has 170 full time employees and 30 part time
employees.

For top-level management, employees are recruited through private
consultants. These professional recruiters can entice the needed top
executives from other companies by making the right offers. Employees
appointed at the entry level are recruited through walk-in. For that, a
notice is placed on the notice board specifying the details of the jobs
available. ‘Newrange’ also encourages present employees or their friends
and relatives to refer candidates. They also visit some of the reputed
educational institutions to hire some of the most talented and promising
students as its employees.

‘Newrange’ shifts workforce from surplus departments to those where
there is shortage of staff instead of laying them off.

Explain the various internal and external sources of recruitment used by
‘Newrange’ to recruit its employees.

g us g
SECTION E

‘T @ T favnTeRes gie H fohgl ©: MU W IA=dye shifa |
AT
Yo=Y & RIS %1 % Agw o foheal =R forgatl sl aweimsy |
Differentiate between ‘Functional Structure’ and ‘Divisional Structure’ on
any six bases.
OR
Explain any four points of importance of planning function of management.
T i o, T e 379 graTg o Ueh Wit SAaHTeeh &l § 310 TH.&1.T.
gl T % ITET W TS THR b gR H F9l W | I a6 98 s wE
TR | T 95 T o1 b 98 WhH AR O 9Hg HUT Hifh 3HE Wi
i 3 wd w4 foorar ferdt 8 TR 398 39 21fYes Shiwr & @y & & A
g faerft | 99 98 Hartga BT Al I8 36 S Wt YeH Hah |
WA Uh UHl HIOH § SR ST 18T AT TGl HHATGT o ¢ IR v
ToerT® FISHTE B 991 S GST H 394 HHETT Bl 3= U doh [ & H
TR B | 38k 3ifafehs, WEt srot frama, faferea gaen, snfe & glaamd o
e Tl & |
39 9 gl T 98 U Sl 4 SR T 9Ee KU G SARRTd S
TEHId B, S HHATNET T I TG aTelt 8 a9l S HHAE! Hl AT
ToehTa T 319Ul T STIHE h ITTER TG L 7l |
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25.

(%) o i &% 3w aratemy § afbda fafte o e Tefoeftar sfirgeent
I TR |

(@) T dF o= R-foxia Afeht 1 auzmse et ==t so0 o foreft
FgU ot T A TR

Three friends, Rajat, Raman and Ansh, after completing their MBA from

a reputed business school at Mumbai, were discussing about the type of

organisation they would like to join. Rajat was very clear that he would

like to take up a government job as it gives stability about the future

income and work which will help him to work with greater zeal. It will

also provide him pension when he will retire from his service.

Raman wanted to work in a company, which has appropriate skill

development plans for its employees and helps the employees to grow to

higher levels in the organisation. In addition to this, the company should

also provide facilities like housing, medical aid, etc.

Ansh said that he would prefer to work in an organisation, which has the

culture of individual autonomy, is considerate to employees and provides

the employees with opportunity for personal growth and a meaningful

work experience.

(a) Identify the wvarious financial and non-financial incentives
discussed by the three friends in the above conversation.

(b)  Explain three other non-financial incentives which were not
discussed by any one of them.

fomiy & Ee & T TRig e T | TH.ELT g | 98 Th.Sse,
TR g foerfya S Yo & fugral g deteRl W UWifead om | S9!
T g Hh, 98 19 TIETe 9 RS FE W& i = R
AT T SR T&- I AR AT ATEal o |

3IUHT Y& AL ANT hl HH hich IcdIET il TG o1 | IEY § I8 Th AHh
fafy foepfia s =mgar o et Trqut @ § e fokm Se | gafa,
3G B AT o HIEW H GO Gl 1 @ H IR IR TEute
Tt § Tehishd foRaT | 38Rk UTETd He WA I W & Rt TTeek Wi 3faw
3caTg 1 gt as aufl AR eI § W@d Y U A oty teid s
H h IS Ak ol foepiya fopem o1 | fomiw &t g i fomama o1 o6y
fth 1 =T 7 hadl AATHS & U fohan I =fge AfUqg Horerdr i agH
foTu smrerwres wivteror oft foom S =nfew | sHek fofw, 3EH SqE # gHeni AW
1 T oIy Tfreror gehrs Shi AT I STET HHSATHAT bl Taorss fafy Hen %

fore smevTes ufwteror feom Sram o | Bt § wR wE § ygw wmmft o

14
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Hifqer T ¥ 39 YohR Wl AT AT fob 37feeh H=mei § o 9T "9 hl A
ToRa ST &k | T TSI o IMYR W TS THT a1 3= Iifert i fuifa
Toram T qen foRIe 4 " IcUTET A Il HHETNET bl ITidINeh feu |

3§, R WM & UTE WHihd WiGhAY, H=al WA, @Y, Wi, 3cd1g qe
rd feufaar & St g oTvea sl 8 foh I 799 ITEshl I YU Tk @ 9
%S o HIH | S WISH W9ld § o Ueh 98 353 3o HT-ehl el Ul &R
g

R TS % T 98 H e JeRg % ST 4 &R HiHe @l faeqd
ghadl M hl |

S0 ¥ URRAl I 3g9d Hd gY, SRR HHSAT G SREM H A MC ISR
Tey o fagrdl qe qehHiehl sl THETST |

Vishesh completed his MBA at a reputed business school in Lucknow. He
was impressed by the Principles and Techniques of Scientific
Management developed by F.W. Taylor. On completing his MBA, he
wanted to apply Scientific Management in his family’s business of fast
food chain of restaurants named ‘Burger Mania’.

His main goal was to reduce costs with increased output. To begin with,
he wanted to develop a standard method which would be followed
throughout the organisation. So, he investigated traditional methods
through work study and unified the best practices. The standard method,
i.e. the best way of doing the job was then developed taking into account
all parameters right from the procurement of raw materials till the
delivery of the final product to the customer. Vishesh also believed that
each person should not only be scientifically selected but should also be
given the required training to increase efficiency. For this, he set up a
Special Training Unit called ‘Hamburger’ in Bengaluru where the
workers were given the required training to learn the best method. At the
factory, the ingredients making up a burger were strategically placed to
reduce the time taken for excess movements. The standard time and
other parameters were determined on the basis of work study and
Vishesh rewarded the workers for meeting the standard output.

Now, ‘Burger Mania’ has standardised processes, raw material, time,
machinery, product and working conditions that ensure that the food
they send out to their customers has the same high standards of
excellence and level of quality in every chain or franchise.

The application of Scientific Management to every aspect of restaurant
operations led to ‘Burger Mania’s’ widespread success.

Quoting the lines from the above, explain the Principles and Techniques
of ‘Scientific Management’ used by ‘Burger Mania’.

66/4/1] 15



G

Series BVM/5

SET-1

o 66/5/1

wlienefl el IT-YEdeht & JE-I8
W AT ford |

Candidates must write the Code on the
title page of the answer-book.

Td .
Roll No.

o FHUAI G F A foh 38 FA-97 H Higd Y8 15 2 |

o THUA H Tl FNU H IR fU MU Fig TR Hl BH IT-YEH ® E@-I8 W
forg |

o FYA IE WA W IATA H 25 7% F |

o  HUAT U T ST TTEAT & I | UgSA, T 1 shilTeh a9 {1 |

o T THUA HI UG o fo1C 15 fire o1 Tm fon mn @ | WeA-9F W foao gatg
T 10.15 S 5T IT@W | 10.15 S § 10.30 1 b B hadd IH-UF i TeTl
3R 38 AT & GHH d IW-YIEIhT T HIg IR g faE |

e Please check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

TaETRID IIeTIH
BUSINESS STUDIES
fFEiRa @& - 3 gve 31T 37 : 80

Time allowed : 3 hours Maximum Marks : 80

1 P.T.O.



i

AT 7597 :

(i) SHYH-9THGTGEE:3, &, 4, caqnT |

(i) @B I T13FH Tt 971 8 % & | [T IR Uek 3o 379/aT Uk 1T 4 &7 |
(ili) @UE T T3 37 T17 Jv79 T 13 T 8 | [577 3T 50 — 75 91551 4 &1 |

(iv) @US TG4 3% I Jo714 @19 7% & | 5757 3T 797 120 vieg] 4 &1 |

() TUEFTT5 3% T F9720 22 7% & | [57%7T I T 150 51551 G &/

(vi) GUE T T 6 37 Tt 9723 T 25 T 8 | 977 It 47T 200 15! 7 &1/

(vii) Y¥7-97 7 HI3 GHI-TT7-1dHeT 397E 7871 &, aIIT T 3% Jict 3 Fo1 4, i
3% FIct 2 F¥l 4, TR 3% qict 2 §¥I 4, Gi 37 qict 1§97 H a9 T b
FIc7 1 F97 H fasheq 3qcisy & | 08 Fo1 7 3791 ST U [aheq &7 & I

g8 |

General Instructions :
(1) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iti)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to
these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three

marks, 2 questions of four marks, 1 question of five marks and 1 question
of six marks. You have to attempt only one of the choices in such questions.
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SECTION A

1. Torelt ot ®r FI ywEQl Ju FIEAU @1 G o U TEeEE i faftm
TG GTEHT <hl ATIIAhT Bidl & | Tohegl & & 19 &qmsu | 1

Various input resources are required by management to complete a task

effectively and efficiently. Name any two.

2. ‘gued = uftyifva HifSw | 1
AU
“STaTor T o= 379 B 2 1

Define ‘Organising’.
OR

What is meant by ‘Delegation’ ?

3. o} SaoEes B %d B8 & U T foshl semT R oY hHMT =Edl
2 | gfl Jaruh SHR W ¢@d 3§ | 9 I ] IrEdfdehdl H Sea o U
TeYhl 1 WIS % SR H He, sArediie wfasaeamol s qur |ed wiftd %
o = afem e geat R |
ITYFd Ul Ja-9 o Teh 1A ol Af0d il & | $H S sl TgAM hiforg qe
38 gy i | 1

All business firms would like to increase their sales and earn profits to be

successful. All managers dream of these. To turn their dreams into
reality, managers need to work hard in thinking about the future, in
making business predictions and achieving targets.

The above lines describe one of the functions of management. Identify
and define this function.

3 P.T.O.
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4 e A T i e § s S |
YT
‘1o o STMER W SNT=ieh TN Td FHT=TES TN H 3Ta¥g i |
Differentiate between ‘Democratic’ and ‘Laissez-faire’ style of leadership.

OR

Differentiate = between ‘Formal Communication and ‘Informal
Communication’ on the basis of ‘Meaning’.

5. RO TG Ueh I hi Si TTEET I hE THITd i 8 2
arera
AT I AT Teh 3T hl oI HEAT Dl hd JHTfId HIAT B 2

How does ‘Cost of Debt’ affect the capital structure of an enterprise ?

OR

How does ‘Cost of Equity’ affect the capital structure of an enterprise ?

6. ‘THE T fafee’ T 10 HUS I AfHhd ST & TF USiehd & | FHEG hl T&a
STt T 6 HUS B | IO o h HH A S @ oAt | HEOR S TR T T 100
Y o 1,00,000 THAT 3T o6 FHHA G g9 TG HE w1 FoE o
i ol STfigT &1 TR | $Eeh e, I8 WA B3 Tk U O ardiosh
JTTIHAT | 3TMeH o |

39 JGYUN shl g <hIfGT a1 38 qRTivg hifvre S8 st =61 wenid
w1 i od 999 =l g s /A8 W@ T

XY Ltd. is registered with an authorised capital of ¥ 10 crore. The
paid-up capital of the company is ¥ 6 crore. The company was facing
shortage of funds. The management of the company decided to raise
funds by issue of 1,00,000 equity shares of ¥ 100 each. The issue was
fully subscribed. After this it was realised that the funds raised were in
excess of the actual requirement.

Identify and define the concept which was not considered by the company
before deciding the amount of funds to be raised.

~
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7. oo 9 gAY ATIHEECE W Uh o5, 39 foiflgd TR & @19 @l fo afe
HTIRIHAT g3 Al ©: WIE A% 5,000 T 31 g 7 T doh, S Wt 98t B,
TSk hl HUHAd oh & ST 319eT 3§ dcd fedn Sum | & °18 § 400 forY <hi
U T HH % IRET TMEh 6 TR A HM w1 9g R (@ | faow w6l
foshar & T o T e 3ueh! Rreerd g @ A R fean | ag ym b ot R
F A |

faas + gome dfw f sdwa fufa 4 o' v sifteid &1 wm @
Ghal B | 1

Vivek purchased a bike from Sarnath Automobiles with a written
guarantee to repair or replace, if necessary, within six months or
5,000 kms of distance travelled whichever is earlier. After covering the
distance of 400 kms in two months, the gears of the bike started giving
problems. Vivek took the bike to the dealer who refused to listen to his
complaint. He was confused about what he should do.

Suggest the rights that Vivek may exercise in the above case.

8. ‘T uihw sfaute fefies’ scaffhcds & fou ws fgdia asr dohdls
A IYH ST W 7 | TeArafehedenl gRI 38 IUHLU HT FAN hadl IUTe
Tf¥reTer < =Te & foRar S Tehat 8 | T8 9k R 3Heh W@ & fou ot foafirse
AN & ATIEIH bl AIThAT & | b BN, 3K H IFANT HifHd
STl & foran 51 @1 8 | FE) 3ushtor <kl frshl seEn =mEd ® |

Y I o AT W HROT ¢d L HFE] G TN H A I Tt Fq€ qlieh
1 ggira i | 1

‘Nayan Medicare Equipment Ltd.” manufactures equipment for surgeons

having a unique laser technique. The equipment can be used by the
surgeons only after proper training. Even their maintenance requires
guidance of specialised engineers. Because of this, the equipment is used
in a limited number of hospitals. The company wants to increase the sale
of the equipment.

Suggest the promotion tool to be used by the company giving reason in
support of your answer.

5 P.T.O.
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SECTION B
9. ey & TR ®rd i fohedl o Himnedt s TmesT |
HAYAT
RIS o W o foheal A4 fogall i TSy |
Explain any three limitations of ‘Planning’ function of management.

OR
Explain any three points of importance of ‘Planning’.

10. SieA (Hepe) farg fmor’ qen “stverg g yeer’ =i wweAsy |
AUAT
‘o gfssar o “Foarea aeent <1 Trgior qen ‘aredfaes fasare <6 a9’ =7on
S THIATST |
Explain ‘critical point control’ and ‘management by exception’.
OR

Explain ‘setting performance standards’ and ‘measurement of actual
performance’ as steps of ‘controlling process’.

11. T3 3 37 €1 0 Tk 9 HIHd & TA.5.8). dod 991 dTelt e 3 | ™
ST IR foram 2 | 39 319 Ui i v L @ 3 | 1 ALl hl gt
AT GETEHT o ITfRelad SHT 1 T Hd b (oY T8 3¢ AW a1 B |
T YU T S S T a8 HHATNE B IUIE HE-W-AIeer ft yge
3 | 98 3 g faswifea et w1 faveiwor off otar ® ef 3% wfagfse off 2o
7 |
o g fromfea rd =l fdem & wh qgwqul gesw & w9 # aftig femar s
Tehal g | SH Uceh 1 ATH FA1ST AT ITYad H TehINIG hl oh (e 37d
g feafea fopT ST depd ATl 31 3T SR T Seei@ hHIT |

Shiv has recently joined an industrial unit manufacturing low cost LED
bulbs. He has five workers working under him. He gives them
instructions to ensure optimum utilization of resources and achievement
of work targets. He provides good on-the-job training to the workers to
build an efficient team. He also analyses the work performed by them
and gives feedback.

The work performed by Shiv may be described as an important element
of directing. Name the element and state two other functions which may
be performed by Shiv in addition to those highlighted above.

66/5/1 6
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12.

13.

‘ot TSI BT fiehtor 38 <IUR fohu ST aret faxier St <ht gitdererdat &
IMYR W fRam Sam 8 ) 39 IR 1 AW Sase ad s 9y ¥ sifees
qRgerIdr 9T YIS T AR fohaT STdT 8 | 39 TR <Al fopeal @ forrsanedt 1
oo ot Fifse |

‘Financial markets are classified on the basis of the maturity of financial
instruments traded in them.” Name the market in which the instruments
with more than one year maturity are traded. Also state any two features
of this market.

T, Higd qem ¥m o fig § 9o ueh Sfenfie & o Iehl STer-oTen @y
fafmtor serrgat € 1 9 R ufed qen $uFer & dur 1o Sedten nfafaf
1 e FAEE i ST ufdrieat w1 fafg otk wd & | 9 Tt o
T = AT T ITAM LA @ AAT AohIhd ThATHT 1 I Hd @ | o 3T
ISl Wl W FHaRor teh 3faa - o steard id § | 9eg o aeft @eft
ATl gRT g3l o IcUTeT § TUHTE U Afod saagRi o |fean T st
FEqE, Tehell AT GNqUl TEgeT & fovw # faf<a 2 | ora:, 3= henfie &=
& T IUICH & 1Y A Th Gired s F 1 vl fogn e st
igam & 9o S W FEET § G & | g TS oEHH, INUhdl T4
sfea i fohad wE Al fasharett &1 Ufaarg 0 a3 favg
FHRIAE B % T JuHTearsti ol Teartad s |

Ioderd g T o AR 38 WA g1 fAsaried fopy 9 atet fepesl
A HRT H1 Ioo@ HIWT |

Gopal, Mohan and Shyam are three friends having their separate small
manufacturing units in an industrial estate. They are hard-working and
honest and undertake their respective production activities following the
good practices of business. They use good quality raw materials and
adopt standardised process. They fix the prices of their products with a
reasonable profit margin. But all of them are worried about the
malpractices like manufacturing sub-standard, duplicate, and defective
goods by the fellow manufacturers. Therefore, they decided to form an
organisation with a constitution of its own which is free from government
interference. This organisation would encourage consumers to strongly
protest and take action against unscrupulous, exploitative and unfair
trade practices of sellers.

State three other functions which may be performed by this organisation
in addition to those mentioned above.

7 P.T.O.
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SECTION C

14. ‘W9 I GRATNG KT | To-o T Tgtram fsham 8 8, |weisy |
reran

‘SHaETteh TEr H A SN | STEETReh qHiat S fhegl e fasmvarsT
! THHATST |
Define ‘Management’. Explain how management is a multidimensional
activity.

OR

Give the meaning of ‘Business Environment’. Explain any three features
of Business Environment.

15. e % & e st § ueh yed et 3w for 91 i Steweesar B, 98 @
‘forg T W Tofa o Sia & 27 ford) dvreq # faole o9 o1 stfver 9 =
Toh o ST ST Hehal & AT I8 I TRIT Ya-9 o UH &l Thal & | Wg I8
‘Sreran R (I F A1 A1)’ Irell raERen & 7 |
IS IS TS ATHR T SeaAd H dedl 8, d Ul o & Uil = 7=
i T |IEM H 6l TG Bl 7 | I8 SEIY BT & FAl(h g TSl § gl
FHer fa fiehe @+l gurem § fuw B9 & 98 3% @ Wy ° =9
Taeee O HEl A [H BT @ |
Ifad B Hied i I U HETUl AR H1 AU fRAT TR B | STaEmOn

! TEAIHT 3R $HH WEw o fohedl i fogatl o Seoi@ HIfT |

One of the questions that needs to be answered in the organizing function
is ‘At what level are decisions made’ ? Decision making authority in an
organization can be pushed down to the lower levels or it may lie with the
top management. However it is not an ‘either or’ concept.

When an organization grows in size or complexity, there is a tendency
towards sharing decision making authority with the lower levels. This is
because in large organizations, employees who are closely involved with
certain operations tend to have more knowledge about them than the top
management.

An important concept of organizing function is discussed above. Identify
the concept and state any three points of its importance.
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16. TS % YFIHT HE & HEw o fohral IR (g3l I Ieaid HIT | 4
3t
FHraTiEt @ fore fdreror & fohedl am eyl 1 Seoi@ I | 4

State any four points of importance of staffing function of management.

OR

State any four benefits of training to employees.

17. 7O 3Tehal Al i [Hfsha (48 @ arel) Sfiaq it & s’ | faf=aa o |
e &% o4 T R o 37ht Fiear sedlt s @ 7 wifer fifia s seefa @
Td b HIATAT § h1H HA <hl T HLdl 8 | 37q:, 394 Beel 30T Uise 9™ o
UTgehl ol TIELIGHH @H o fdeohcd TS Hd o U Teh & TRH HiA
o foren | FRIS w@ wiTed I Sl G0 i o 91g 3§ e SR qgi i
TgaH i {8 9@ hl eI off, IW H TS, GEIHR, a AE,
TR H 9IS WE % [T 3 a1 ¥ W HISH 989 & [ a1 T |
35 I8 Tofa o fop Saep fuan, or, T o 9= Yaeaeh 81 | 32 3o
qarsti & 9ed Ufd 418 T 50,000 feU ST | 39 fUar 7 3T +ar o 98 37
e, W, A aEHR g MA@ g s fdu Ui sv I 7 |
T $H TS % T AR B T | $HH U8, Y9 R Q¥ S gladl 3kl 8
fafir el ol STHIA HHAT TGH i I FGE™ A1 | Y9 A MO F A
&t foh 98 QU IEER I W@ =TEd @ | T 3 9% dey &R o
3R 30 WIS WE & fou ufe g 3 & foaw w1 | g dwt i Tgfm &
foIT Torw 7 U Ufg Bied YeuR HEAH O ey LMfud fRar TR 98 T
I YeM fehU 7T AT | HYSe o |

() <9 I=sq ¥ el Igyd Fd gy, faftm % uqf w1 v & fae
TMOST ST ST H ATE T 9T ok 2 Gidi okl THSST |

(@) @y & Iugaa et o =i yerg & &Rl 1 31 T | 4

Ganesh was concerned about the sedentary lifestyle people are leading
nowadays. Their dependency on outside food is also increasing because
corporate work culture demands working till late night at offices. So, he
decided to start a restaurant, ‘Healthy Eating Point’ to provide healthy
food options to customers. After completing planning and organising

66/5/1] 9 P.T.0.
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functions, he identified the various job positions that are required to be
filled i.e. a General Manager, an Accountant, two Chefs, two boys for
serving the food in the restaurant and three boys for home delivery of
food. He decided that his father, Karan, would be the General Manager of
the restaurant. He would be paid ¥ 50,000 per month for his services. His
father requested him to appoint his friend’s son, Prem, as an accountant
who is well qualified for this post. Ganesh agreed to this proposal.
Earlier, Prem had a business of providing unskilled workers to different
organisations from remote areas of the country. Prem took permission
from Ganesh to continue with the old business. Ganesh happily agreed
and asked him to provide five boys for serving and delivering the food.
For the appointment of the two Chefs, Ganesh approached a renowned
Hotel Management Institute and was satisfied with the Chefs provided
by the institute.

(a)  Quoting the lines from the above paragraph, explain the two
sources of recruitment being used by Ganesh for filling up the
various job positions.

(b)  Also, give the meaning of the function of management discussed in
the above case.

18. TRR $i¥ AIAYH Rem 918 & AT T el & Ush [oemed § HIaehil
TS et o &9 4 SE & | Th o 98 e H Yol 9N < fovg 4 qg
W@ ¥ | IR HET Bl FAT b SHAT hl Sl g5 WRTIGHT o SHROT HRAR GSiT
TR 5 1980 % TXh H ATUSHH ghg <@l | Fowmeni i digar § e
SHEEIT U ST9R YSeRtor o TIear o el weafE, g, Aee s, Ham
R a1 Wiaqfd SR § @ffad o= @ 9 At geR % ety
(EER) A ARH L T | 39 AR =R q1 AqUdi § FHawrehi o fagame
HI qrg S qn Faseni St Reeed 9¢ T8 | gv 7q foeme 3fua s
T o 319 H YR LR 99T I TR Hawren! sl gaensti o Haer o
AR 9 | 35! SH H T@d 8T WA SR A Teh e fepr wfid s

ol form |
(%) 39 s e &1 am aqse S Tadar &1 vl awa R g
o |

(@) 3w (%) ¥ vgae MU femes e & foredl d 3evat 1 Soorg ot
I |

66/5/1 10
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Nayar is working as a P.G.T. Commerce in a CBSE affiliated school of
Kerala. One day he was teaching about capital market in the class. He
informed the class that during 1980’s the capital market in India
witnessed a tremendous growth because of increasing participation of the
public. This ever increasing investors’ population and market
capitalisation led to a variety of malpractices on the part of the
companies, brokers, merchant bankers, investment consultants and
others involved in the securities market. These malpractices and unfair
trading practices eroded investors’ confidence and multiplied investors’
grievances. The Government of India and the stock exchanges were
helpless in redressing the investors’ problems because of lack of proper
penalty provisions in the existing legislation. In view of this the
Government of India decided to set up a regulatory body.

(a) Name the regulatory body which the Government of India decided

to set up.

(b)  Also state any three objectives of the regulatory body identified in
part (a) above.

S T At fgad Hrot o e Hhierl el % €9 H HRNd & | B
YT G HIE hl Tk Tree fgam Hrot & T & & 23 | 59 &1 i,
rfl, S HEifeRTerd § U SaaHe Aere %1 ek 7, oud i % any
Foau’ a16 W ==l R T A1 | g S @ fouue foRE o gwifed A
Rl W T =@l A1 | 54 o FHern foh fowum foie 6 sga 8w
yifed i §, 3= gEda: 4 9 § 9 S Tehdl 8 : () Freeie o w@
(ii) TR-FEeefie T |

S 3 o ggmn fob e aw@ fauvm @3 99 S § e fauom d aweran
T i o foTe faque gereres et €9 9 Fa%9 IgH & 7 |

39 fauve o3 gyg i vgaT vd gHenst N fauve yergent g R ' 9
oy T S ehdr 7 |

Jay is working as the Chief Executive Officer of a soft drinks company.
The company is doing its business in collaboration with a soft drinks
company of France. Jay’s friend, Swami, a teacher of Business Studies in
a reputed college was discussing the ‘Marketing’ chapter with his
students. He wanted clarity from Jay about the factors which affect the
marketing decisions. Jay explained that there were a large number of
factors affecting marketing decisions which may be divided into two
categories : (i) controllable factors, and (ii) non-controllable factors.

Jay further explained that controllable factors became marketing tools
that can be constantly shaped and reshaped by marketing managers, to
achieve marketing success.

Identify and explain the set of marketing tools that can be constantly
shaped and reshaped by marketing managers.
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20. AT Yoy 1 A B TE Y W I§ T Toh 39 AfHRT B FA AT ARG B
R I8 <@ foh o 30 HIUss U9 fhmdt &1 @ | SR 3 A1 Y5 6
fogral = v | @1 & fou fofie et faerfia i iR duem ©ia s
H, &l 98 H HA A, IGhHdT Bl I AT F¢H H THA g3 | fafvE
Aehienl o Uoh debdleh Fgad fohu S aTel shefeidl <61 g fuifa s #;
IUIFT YTk AT STt & T 5 AN bl (o it 8 | Th 3T dohrilh
39 HUATET hl U5 Ll & S Uk feq & 3 w1 1 fvurea/sr 3 i
3CATEH A o AT g AT AT 8GR0 W NI 7 Foh HRIperdr Ja-gehi wd
fHehl QM1 o TIFd T T THUMH 3 |

3UYH =g § Uladl 3gYd i U AT Ta=H 1 QI qehishl ol TGETT
Td §HATRT |

‘Scientific Management means knowing exactly what you want men to do
and seeing that they do it in the best and the cheapest way.” Taylor
developed various techniques for application of Scientific Management
principles and was able to achieve a three-fold increase in productivity in
Bethlehem Steel Company, where he worked. One of the techniques helps
to determine the number of workers to be employed; frame suitable
incentive schemes and determine labour costs. Another technique
recognises those workers who are able to accomplish/exceed the fair day’s
work and is based on the premise that efficiency is the result of the joint
efforts of the managers and the workers.

Quoting the lines from the above paragraph, identify and explain the two
techniques of Scientific Management.

21. e A fafies fafim g & anfuifsoes arei & fmiar 2 | fuss ad & e
goeh! foshl @1 €t g wuQ oft | =me] 9y # wE A fshl 1 20% € SeW w6
faut form B | U foTu otiafies e smer aTehetur fohu U § | STidfeR 3Tehetur
& HIEIH 9 32 gadE & gt faum hl aherdrett we wEeiiEl o fagayo
foRaT | SITEI 3TeheTuT hl Shrg-foirg TR SIgeTd BU TR o H3Taer T8 &k ¥ |
31, SAFHIRH TAE H &F H T@d §U Th foqd AT dIR 1 T qe
AT BT AT B b (I ATEYIS TETEHT hi MEfed foham T | HEET A
TFQUl ¥ < 79 HEATAAl H AT HT qeH B b Hew feu | fasht # R
gfg & I & T g9Eql Aeet H faefia e h s
yfagdr 3 fisd T ewres § 39 R faed o1 steaeq fomam @ |

ITFd At ASHT G ThRI sl TEATHT Td FHEST, |
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Matta Auto Ltd. is manufacturing different types of commercial vehicles.
Their sales were rupees two hundred crores in the previous year. The
company decided to increase sales by 20% during the current year. It
conducted internal as well as external audits for the same. Through
internal audit, they analysed the strengths and weaknesses of the
business across all departments. External audit focused on the
opportunities and the threats in the constantly changing business
environment. Thus, a comprehensive plan was prepared taking into
consideration the business environment and the necessary resources
were allocated to achieve the target. The company directed its offices
throughout the country to follow the plan. The company’s commitment to
develop effective plans to achieve a consistent increase in sales has
ensured its continual growth over the past one decade.

Identify and explain the two types of plans discussed above.

22. YoYU % TGRM R o HE % foheal g [o=g3tl ! GHIATST | 5
AAAT
Torgl uta TR-fofiar STfiSRent 1 TH=ET | 5

Explain any five points of importance of ‘directing’” function of
management.

OR

Explain any five non-financial incentives.

Qs q
SECTION E
23. AT <l Tohgl IR foiwdreti =l g9=msy | 6
AT
wa-y & fagidl 1 Tl W Tt S aret fohegl wr fogatt ot TSy | 6
Explain any four characteristics of coordination.
OR

Explain any four points highlighting the nature of principles of
management.
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faamfor ‘oo sfen foifies’ e e Fmivht v fafas s 1 Sames
Yeeeh 2 | 99 2017 — 2018 o G, HFIT 3794 3T AL ol ITSd ol oht
Tehl | AT o G&T HRBR SR = fomivmi 61 s Afffd S8 S SR
1 AT A Hoh R 9fasy H IcUTeT AL hl T hid o T 3104 G ¢
b | ST A IcqTed graell fepiel o1 favamor fopam 3ty for =@t e
% SR GEETC off | “Aea stean fafies’ & Fem 95d & aed 9 91 9 e
Tfihd JEe gRI € WY W S od o f5e@ w7 3 Bt oft | et %
980 © Teegehl &R ¥, frdes afommeesy g ol Bt off 3R ITRIg I
geaTand aral ot |

Y & 3cUTed Yegeh, fa=amMior, UH ITaTsl W1 YA hiar o7 foh 3Hd
HATUHRIG: AT % FAWE] I 38 dgad! off | fomamiir SR HHarl qHi
Q%%ﬁéﬁrﬁm?ﬂ:@@ﬁﬁ 3A: Th-gEL o HTNI i I8k A &I H Tl
HHd |

(%) I afea TEITOl STETT ® YR ! UgaTHT Td 3T 319 i |

(@) wﬁaﬂﬁm 3gYd U Y, WA (F) H 989 ¢ Yk YhR
AT & TEINY STl 1 Joor@ hifere, fdes wRer Tea gfe
%ﬁé@@ﬁma@aﬁwﬁwa«iﬁl

(M) U@ Rl 3 gEmEl 1 Seoig shifvT W1 @il g wEmer <l gwilerskdr

! gard % fore g o & |

Chintamani is the Production Manager of ‘Global India Ltd.’

manufacturing and exporting steel. During the year 2017 — 18, the

company could not meet its production targets. The Chief Executive

Officer of the company constituted a committee of experts to find out the

reasons and give its recommendation so that the production target could

be met in the future. The company analysed the production related
records and found out that there were problems due to communication.

‘Global India Ltd.” had rigid rules and would insist on communication

through prescribed channels, which led to delays. The company also had

a number of managerial levels causing further delay and distorted

communication.

Moreover, the Production Manager, Chintamani, was using a tone that

quite often offended the sentiments of the workers. Also, Chintamani and

the workers did not believe in each other and so could not understand
each other’s messages in the original sense.

(a) Identify and give the meaning of the types of communication
barriers discussed above.

(b)  Quoting lines from the above, state two communication barriers
under each of the types identified in part (a) because of which
‘Global India Ltd.” could not meet its production targets.

(c) State any two recommendations that might have been given by the
committee to improve communication effectiveness.
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‘TN R A 46 W % aF & A1 EIa: s, fooolt @ g0 §
YA TEGSTT hl Teh STV H@T g | 39 1987 H W= o1 g IRw foran
T AT | $HehT Hre, ool U9 gU W U ST SR Y 7 | TR % gIHaEd
! q@d g¢ 394 g foia foran fob o ot ® U 98 wmEn @i | 30 Ag ot
o o1 2 fob 98 -8 ¢ gl | frow R a@ifes a7 o ekt & fow
IHTH GUTTI el I L Heh | Teh IR e O] ol I ToRaTd &1 ST
Top o8 27fereh 3T Tg AW 39T R Hehd! B, d1 30 I8 iy oft o1 B foh 5@
GIRISHT o foT iy gl @ gTea fohu Srdn | foxf Jeweeh, S7dd 1 el =
o6 a8 9T & Tl ®iY 9Td & 7g [y @it o s g9mEeel agad
T Tk Tk AJhAdH Yol @il hl ITd ol ST Heh SR Soramiai <l
GTEYET I TG ST Heh | AT A HEAH hl Tehg a8 el =1 qeaied
% v fa & fafim @@l & ara &1 qoaied fea 9o g% Ed 9
Trf-ad SRaH Td Y ThA i Sl AT Sl gaT i |

(%) T fuf & wfia 3 e Fobi 1 seore Hfw |

(@) s fuia il garfad o aret T foredl Q1-g =eehl 1 uesy o9 W
aneft oft ford Serush B SR ST R |

‘Monisha Consumer Goods’ is a leading consumer goods chain with a
network of 46 stores primarily across Mumbai, Delhi and Pune. It was
started by Monisha Gupta in 1987. It has a large market share in
Mumbai, Delhi and Pune. Looking for an opportunity to expand, it has
decided to open a new branch in Kerala. It has to decide on what new
resources it will invest in so that it is able to earn the highest possible
return for its investors. Once the company believes that it will be able to
generate higher revenues and profits, it also has to decide on how this
project will get funded. The finance manager, Atul was told to have an
optimal capital structure by striking a balance between various sources of
getting the project funded so as to increase shareholders’ wealth. Atul,
after assessing the cash flow position of the company, evaluated the cost
of different sources of finance and compared the risk associated with each
source as well as the cost of raising funds.

(a) State the two financial decisions discussed in the above situation.

(b)  Explain any two factors affecting each of the decisions that still
have to be considered by the finance manager.
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